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Abstract

This article addresses several key issues with
the current laws of electrodynamics, including
Lorentz’s law, Faraday’s law, and the Maxwell-
Ampére law, by highlighting various scenarios
where these laws fail to describe physical phenom-
ena. It also presents a case where the condition
V.- B # 0 occurs, challenging the standard
belief that magnetic fields always have zero
divergence.  The article argues that magnetic
fields, as traditionally understood, do not actually
exist. Instead, effects thought to be caused by
magnetic fields are simply due to electric fields
(no need to include special theory of relativity).
A new concept introduced in the article is the
“drag property of the electric field,” a previously
unknown characteristic that creates the illusion
of a magnetic field. Using this drag property,
the article derives a set of revised electrodynamic
laws that consistently apply across all situa-
tions. Additionally, it addresses the failure of
the traditional atomic model and suggests a new
approach. The article also challenges the idea
that space is empty, proposing that space is filled
with something rather than being a true vacuum.
This research offers a fresh perspective on both
electromagnetic theory and the nature of space.

[General note: Please note that I am not a
professional in research writing, so there may be
some errors. I appreciate your understanding.

e If you don’t have enough time to read, just read

the sec{3.]] and [0 these are sufficient to

justify the article’s title and theme of the entire
paper.]

1 Introduction

The relation between electric field and magnetic
field is given by Maxwell’s third and fourth equa-
tion as

(1)

= - dE
V X B = puJ + pe

g (2)

But we have another set of equation which also
relates the electric and magnetic field known as
field transformation equation , given by [1][2]

BXUB

B = pe(tg x E)

=,
I

(3)
(4)

where vp and vg represents the velocity of mag-
netic field and electric field respectively.

Using this equation{d and principle of superposi-
tion of field, we can calculate magnetic field pro-
duced due to any shape of current carrying wire.

1.1 Finding magnetic field due to a cur-
rent carrying straight wire using
field transformation equation

The principle of superposition states that at ev-
ery point, fields due to all different sources live in
superposition, and the net field at that point is
the vector sum of all the different fields present
there. This means that if there is a null point near
a system of charge, it doesn’t mean that no field
is present there i.e., a null point can’t be treated
as field-free space. It only signifies that the net
electric field is zero, but the fields are still present
there.

Taking the case of current carrying wire, let (A,
E,, v;) and (A, Em, vy) are the linear charge
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Figure 1: A Current carrying wire

density, electric field and the speed of correspond-
ing rest charge and moving charge respectively.
Here, wire is neutral, so A\ + A\, = 0 and Er +
Em =0,

E, and E,, live in superposition. When the free
electrons move, the field associated with it also
moves (with the same speed), while the field of
rest charge remains at rest (v, = 0).

Using the field transformation equation {4 we can
obtain the magnetic field of surrounding region as

gnet = M€ ZUZ X E@

0 _,
Ui X Ey) + pe (U X Ey)

= pe (F

= peUm X (Epy) + Epml)

—

(where EmH and E,,, are the parallel and perpen-

dicular components of E,, w.rt. the wire (direc-
tion of motion of electron) and 7 is a unit vector
along ¥, X Ep.)
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1.2 Deriving Biot-Savart law using field
transformation equation
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Figure 2: A curved current carrying wire

We can also derive Biot-Savart law using the same
concept (principle of superposition and field trans-
formation equation .

Suppose dE,, is the electric field due to the moving
elemental charge \A,,dl (free electrons) at point p
at distance r

 Apdl

 A4me 12

The magnetic field (dB) produced at point P due
to this moving electric field will be

dE,

dép = L€ Uy X dEm = UEVy dE,, sinf n

(where 7 is unit vector along 0, X Ey, 1)

2 Categorization of field

Before proceeding, we need to categorize the field
on the basis of their source and their dependence
on observer as below

2.1 Primary and secondary fields

On the basis of source of fields, it can be classified
into two categories:

1. Primary field

This type of field is created by source charge
(electric charge or magnetic charge). It initiates
from the source and terminates at infinity. When
a charge of opposite nature comes near it, it does
not terminate or bend there because fields from
different sources live in superposition, without
affecting each other. In field line representation,
we draw the paths along net electric field or
magnetic field, but not along the individual fields
and so it seems like that field line is terminating
or bending in presence of external charge which
is not actually true (as if field lines really bends
then any charge 4q; can’t apply any force on a
charge +go, if there is any third charge 4¢3 in
between them, which is against the principle of
superposition of charge).

It is a conservative type of field and its field line
follows a straight path (curl is zero).

Example: Electric field produced by charges
E =kq/r?F | (pr-(fle)

2. Secondary field



This type of field does not incur any source charge.
It is always created by some another fields (called
parent field or producer field). Its field line can be
straight, circular or any type of curve depending
upon, how it is produced. It is non-conservative
in nature.

Example: Magnetic field produced by moving
electric charge or electric field (B = 7 E), electric
field produced by moving magnet or magnetic
field (E = pe B x 7).

Let us denote primary electric field as Ep and
secondary electric field as E;.

Gauss law: This law states that V- E = P but
the electric field mentioned here can’t be secoreldary
electric field as this law deals with the fields of
electric charges i.e., primary electric field. Hence,
the actual representation of this law will be

5 _ P
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2.2 Absolute and non-absolute field

On the basis of dependence of field on the observer,
it can be classified into two types.

(1) Absolute field
absolute field

1. Non-absolute field
It is an observer-dependent field. The magnetic
field produced by moving charge is a non-absolute

magnetic field as it depends on the velocity of
W qu X 7

' ' dr 2 7
where ¥ is the velocity of ¢ w.r.t. observer [3].

2. Absolute field

This type of field does not depend on the observer.
Its magnitude remains the same for each and ev-
ery observer, whether it is at rest or motion (we
are not including special theory of relativity here).
The electric field produced by charges or the mag-
netic field produced by current-carrying wires are
the examples of absolute magnetic field.

Note:- The magnetic field produced by moving
charge is a mnon-absolute field, but the mag-
netic field produced by moving charges of a neu-
tral medium (current-carrying wire, sheet or any
conducting neutral medium) is absolute field or
observer-independent in nature which can be seen
mathematically also as below .

Consider the case of current-carrying wire, where
A and A, are moving with velocity o, and ¥,
respectively w.r.t. any observer S. The total mag-
netic field that would be produced by these moving

and (2) non-

charge w.r.t. the observer given by B =

charge system in its surrounding space will be

B = pe (G x Ep) + pe (0, x E,)
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It is not containing any observer-dependent pa-
rameter, and hence, it is an absolute field which
remains the same for every frame of reference.

3 Failure of Lorentz Law

The magnetic force ﬁle on a charge ¢; due to an
another charge ¢o, moving with velocity ¢ and s
respectively (w.r.t. any observer S) is given as [4]

— —

- Hoq192
Fri2 = 11 X By =

ETT [?.71 X (?.72 X ’f'lg)] (6)
where r is the distance between the charges, B,
is the magnetic field field produced by the moving
charge g2 (at the position of ¢1) and 19 is a unit
vector from ¢y to qi.

Proof :
[ = = Uy X T
Fri2 = qvh X By = qv7 % [iu]
47 r2
noq192 S .
= ETT [Ul X (Ug X 7“12)]

OR, = ME Q1E2 [’171 X (’172 X f'lg)]

However, there is a problem in this equation as
this force is depending on the velocity of charges
w.r.t. the observer. This seems paradoxical be-
cause it supports that a zero force in one frame
can be non-zero in some other frame or vice versa,
which is not possible.

An observer cannot know if the system is moving
or not, but it can always know about the system’s




acceleration (whether the observer is inside or out-
side the system) because acceleration is absolute.
Hence, if a system experiences zero force in
any one frame, it will be zero in all the other
frames as well, as it’s acceleration will be
zero for all the frame.

However, the above equation doesn’t support this.
Here are a few situations that clearly prove this
equation to be wrong.

3.1 Charges moving with the same ve-
locity don’t experience or apply any
magnetic force on each other

Suppose two charges (¢; and ¢2) are fixed across a
nonconducting rod and two observers S and S’ are
there. S is at rest, and S’ is moving with velocity
—7 at angle 6 (w.r.t. the system) as shown in Fig.
Bl

In the S frame, this charge system is stable as there
is no torque in this system. Its stability is not
depending on the observer S’ or the value of 6.
Also there isn’t any magnetic force on the charges
q1 and ¢ as no magnetic field is present in this
frame.

‘%

Figure 3: Two charge system (stationary) w.r.t. S
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But for S’, these charges are moving with velocity
U (figHl]) and so producing magnetic field. In this
figure [4, the magnetic field produced by charges ¢,
(at the position of ¢2) and g2 (at the position of
q1) will be respectively
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where r is the distance between the charges, 79;
and 719 are the unit vectors from ¢ to g2 and g2 to
q1 respectively. Nevertheless, charges are moving,
the electric field will be in the radial direction [5],
and so the electric force on both charges will be
along the rod, i.e., Fp1o = Feo1 (toward each other,
along the rod).

But, because of the magnetic field, the magnetic

—

force on charge ¢; due to ¢ (Fyy12) and on g2 due

—

to 1 (Fim21) will be (applying Lorentz law):
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Figure 4: Two charge system (moving) w.r.t. S’

Same result we will get, if we apply equation{0]
directly.

So in the frame of S’, there is a net torque in this
system, and hence it should rotate anticlockwise
(clockwise if ¢; and ¢y are of opposite polarity) to
align itself along z-axis (or along the ).

This experiment is sufficient to proves that equa-
tion [6] is wrong as it is giving different result for
the same experiment when observed from different
frames which is not possible as the laws of physics
are the same in all inertial frames of reference that
are moving at a constant velocity.

The Lorentz law is also failing here as the magnetic
force (ﬁm = qU X é) on the charges ¢; and ¢o in
S frame is zero while in the S’ frame, it is non-zero.

The question arise here is, (i) will this moving
charge-pair (or any two charge moving with same
velocity as shown in ﬁg rotate or not due to
the presence of a magnetic force? (ii) will there
be any magnetic force on these moving charges ¢;
and ¢o7

If it rotates, then it means that a stationary
charge pair should also rotate (ﬁg as it is also
moving w.r.t. some other observer, which can’t be
true as (i) it will violates the law of conservation of
energy; (ii) the magnitude of torque and the final
stable position of this system will be unpredictable
(For S, this charge pair is stable for all value of 6
while for S’, it is stable only for § = 0° and 90°)
as there can be more than one observer at a time.
So, the solution of this experiment is that it will
not rotate at all.

This proves that charges moving with the same



velocity do not experience or apply any magnetic
force on each other, regardless of the observer or
the value of 0 (ﬁg; otherwise, for some observer
(like S), it will be violation of law of physics
(rotation without having any rotating force or
torque).

One interesting question arise here is: how do two
identical current-carrying wires (velocity of elec-
trons in both wires is the same) attract each other
if the magnetic force between two moving charges
moving with the same velocity is zero? (actual ex-
planation is mentioned in sec

Note that its explanation using the concept of sta-
tionary magnetic field (present understanding) is
not correct as the concept of stationary magnetic
field itself is wrong (mentioned in sec.

Modification in Lorentz force equation

The Lorentz law states that the total force on a
charge moving in an electromagnetic field (E + E)
is given as

Fy=qE +qi,x B (7)
Here, the electric field can be either a primary elec-
tric field, a secondary electric field, or both. Sim-
ilarly, the magnetic field can be both, but the pri-
mary magnetic field doesn’t exist, and hence it is
always the secondary magnetic field (B). So, it can
be written as

Here, the velocity of charge is not w.r.t the ob-
server, but it is w.r.t the magnetic field.

EMF in a coil, moving with a magnet

A magnet always creates a circular electric field
(secondary) around itself, whenever it moves, given
by equation |3|i.e., E, =B x 0.

Suppose a coil is moving with a magnet as shown
in figure

Due to the secondary electric field, there should
be a current in the coil because of the induction of
EMF in the coil due to Es as

Cc:loop:?{E‘s'CZZ:%<B’XﬁB)'CZz (9)

Magnet

/" Coail

Figure 5: Magnet-coil system

But consider the same case from the magnet frame.
In this case, both the coil and magnet are station-
ary, and so no EMF or current is there (Faraday ex-
periment), violating the previous case. So it proves
that the previous equation of EMF is not true.
The actual equation of &,,, can be find using equa-
tion |8| (modified Lorentz force equation) as

e JFo-dl _ J(aEy+qTyp x B) -dl
q q

—/E,,.Cﬁ+/<aq,3xg>.cﬁ

For a closed loop, it will become

0
glwpzf}? -dz+7{(ﬁq,3x§)-dz

:f(ﬁq,Bxé)-d?

OR, _]{(Exﬁaq)-cfl

(10)

S0, Eoop is not depending on the velocity of the
magnetic field or coil, but depending on the rela-
tive velocity between the magnetic field and coil.
In the above case, vy p = 0, and hence, &jppp = 0
i,e no matter from which frame, it is observed, it
will be same for all.

This explains why the same EMF induces in a coil
when

(i) The coil is stationary and a magnet passes
through it, OR

(i) The magnet is stationary and a coil passes
through it.

However, according to many physicists, these
EMFs are getting induced through a totally differ-
ent mechanism and came out to be the same be-
cause there is some deep connection between these
two situations. But the above derived equation of
Eloop (equation could be the simplest explana-
tion of this.



A magnetic field always moves along with
its producer charge

Section |3.1| proved that the magnetic force between
two moving charge having the same velocity is zero.
It is possible only if v, g = 0, otherwise not, as
in that case vyp # 0 = F,, # 0. This means
that “magnetic fields always move along with the
producer charge”.

So using this concept and equation [§], equation [f]
can be modified as

= . = 2 s L
Fini2 = 112 X By = %% [T12 X (T2 X T12)]

2
(11)

But this equation also fails in multiple cases. Few
of then is mentioned below.

3.2 Two
other

charges, approaching each

We have a system as shown in fig{6] where two non-
conducting rod (R; and Ry) is there, placed in a
line. The first rod have two uncharged beads (b;
and bg) while the other have two charged beads
(bs and b4) having charge ¢ and —q respectively.
Beads are free to slide over the rod.

Here, b3 and b4 are moving toward each other under
electrostatic attraction (let their velocities are u a,
and —u a, respectively (take the direction from left
to right of the page as x-axis and bottom to top as
z-axis)) while the uncharged beads b; and be are
stationary.

't

Figure 6: Two approaching charges w.r.t. S

For observer S (system frame), beads b3 and by will
simply collide with each other (let the collision is
completely inelastic) and the position of rod R;
and Ry will remain same before and after the col-
lision i.e., the motion of charges will not affect the
position of rods.

However, does the situation remain the same for
S’ (moving with velocity —¢ w.r.t the system (we
will use this two observer S and S’ in this entire pa-
per, so if not mentioned, just assume it))? NO!.
For S’; charges are moving (with velocity v 2) and
so magnetic field comes into play and changes the
situation.

In this case (ﬁg, the magnetic field produced by
the charged bead b3 (at the position of bs) and by

4 A 4
e | Y & es
s R i | R, .
O =
Figure 7: Two approaching charge w.r.t. S’

(at the position of b3) will be respectively

B, :iq(ﬁ—#—ﬁ) X Thybs _ B
5 A4r d? 47 d?
B, :ﬂ—q(z_f—ﬁ) X Thaby _ Bq

Y A4r d? 47 d?

where 7y, and 7,5, are the unit vectors from b3
to by and by to bs respectively.

On applying the modified Lorentz force equation
(equation and the concept that magnetic field
always moves along with its producer charge, the
magnetic force on the beads b3 and by will be re-
spectively

—

Finbs = a0(g,B,,) X Bo, = q(21) x By,

B gPuu
2 d?
= —q 17(—11,31;3) X Bb3 =q (—2’[?) X Bb3

1

m,by

1 oqPou,
———2
27 d?

In another way, we can directly use the equation{I]]
and we will get the same result i.e., the magnetic
forces on the beads b3 and by will be

— —

2
1 qtou,
Fm,bg :Fm,b4 =

Cor (2

This force on b3 and b4 came in the same direction
(in the direction of ¥). So for §’, the rod Ry will
gain some velocity (after the collision) because of
the magnetic force, which implies that position of
rods will not remain the same after the collision
of charges, irrespective of what we observe in the
S frame. So, this proves that modified equation
(equation also fails as here it is predicting

different result for different observer.

Now the same question arises here: which one is
true, i.e., will the rod Rg move or not?

We can clearly say that it will not move at all, as
if it moves, then

(i) what will be the direction of motion and the
magnitude of final velocity of rod Ry as there
can be more than one observer like S’ at a time
(having different velocities in different directions)?
For each observer, the direction of this magnetic



force will be opposite to ¥ (measured w.r.t. that
observer), and so the direction of the net magnetic
force will become unpredictable (indeterminate).
Also the magnitude of this force depends on the
observer, i.e., if larger is the velocity of observer
w.r.t. the system, larger will be the magnetic
force and so the final velocity of rod Ry (w.r.t the
observer or R;) which is not possible as observers
can’t affect any system or decide the final velocity
of RQ.

(ii) there must be a such responsible force in the
S frame also, which isn’t;

(iii) it violates Newton’s third law as the action
and reaction force on charges comes in the same
direction (15‘;”71,3 = ﬁm,b4)-

So, the solution of this experiment is that the rod
Ry will move at all (w.r.t R;), and the conclusion
is that two charges moving toward each other,
do not experience or apply any magnetic force
on each other, no matter from which frame it is
getting observed.

A few more cases where equation{1]] fails are: -

e A charge is connected to
a line charge through a non-
conducting spring, as shown in
the figure, which is oscillating
perpendicularly to it. For S, [
this oscillation is simple to and  * «— —>
fro motion of charge. +"WV\/\/_®
But for the S’ frame, this
charge system is moving (with ¢+
speed v), and so producing
magnetic field in its surround- ,
ing region which mean that 5% %1V
this oscillation is not as sim-

ple as seems in S frame (for

S’) because now there is an additional force (mag-
netic force), perpendicular to the direction of os-
cillation. In addition, the direction of this force
changes whenever the charge changes its direction
of motion (at extreme positions).

So, this equation{l]] is predicting different result
for the different observer which is not possible.

e Consider a hydrogen atom having a revolving
electron. For S (stationary observer), the orbit of
But for the S’ frame (moving
away from the atom, in the plane of electron’s or-
bits), this orbit becomes elliptical as now there is a
magnetic force (use equation due to the mag-
netic field produced by the moving nucleus. But,
it is not possible because the shape of orbit can’t
be affected by an observer.

atom 1is circular.

It again proves that equation [11}is not always true.
It is limited to some fixed cases. Therefore, we
need to find a formula that can handle each and
every case.

4 Failure of Faraday law

4.1 EMF in a coil, moving toward a
current-carrying wire

Suppose we have a wire carrying current I, and a
rectangular coil is moving toward it with velocity
v.i as shown in figure (a). The total magnetic
fux inside the coil will be

@B:/é-dﬁ':/“]ldr
2rr

Due to the motion of the coil, this magnetic flux
inside the coil changes and it leads to the induction
of an EMF inside it as given by Faraday law

_ d®p  d ul
E=—"w ~a [/2m«ldr]
ol fd (4] et (L1
o dt U r o rL T9
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Figure 8: (a) A coil is moving in magnetic field (b)
A coil is moving in electric+magnetic field

In this situation (fig{8|(a)), Ar and Ac of the neutral
wire is at rest and motion respectively (velocity
of e = Uy, I = AeUm). The magnetic field
that is increasing inside the coil is produced only
due to A¢ (as v, = 0). There is no contribution
of A\, in it. So, if we remove A, from this system,
still the same EMF will induce in the coil as the



surrounding magnetic field will still remain the
same (primary electric field will not affect this
EMF as fE dl = 0).

Case-1: Suppose we removed A, and left with the
system as shown in figure (b) EMF induced in
the coil will be same as the previous equation [12]
ie.,

PAeUmUL [ 1 1
E="—-T-——7"—|—-—— 13
2 <r1 T9 (13)
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Figure 9: A coil is moving in a stationary electric
field

Now study the same case from the A, frame (figure
@. In this frame, there is a stationary electric field
with zero magnetic field in the space, and a coil is
moving in it with velocity vei — vpmj. If we apply
Faraday’s law here, then the EMF inside the coil
should be zero as no magnetic field is there in this
frame, i.e.,

£="u

Even the primary electric field present here can’t
induce any EMF in the coil as it is a conservative
field.

But the EMF is inducing (E.,;; # 0) as this
situation is nothing other than figure (b), but
how? Sometimes, special theory of relativity is
used to fix the problems of electrodynamics. But
here, this theory also can’t explain the above
situation. It proves that (i) Faraday law fails in
case of non-absolute magnetic field as it gives
observer dependent value for the EMF which is
not possible

(ii) it is something other than magnetic field
which leads to the induction of EMF as there is no
magnetic field is A\, frame (ﬁg—@, but still £.,;; # 0.

=0

Case-2: Now suppose we remove A, from the sys-
tem (figure [§(a)), keeping everything the same as
shown in figure [10}a). In this case, the EMF in
the coil will be zero as no magnetic field is there.
But study the scenario from S’ frame (moving with
velocity v7). For it, there is a magnetic field

UAV . .
= in the surrounding region and so, a

mr
non-zero EMF should be there in the coil as the
magnetic flux is increasing inside the coil. This
EMF can be calculated using Faraday law as

1 1
< — ) = Bl’UCl — Bgvcl

T
(14)

_ pAvucl

£€=- 2w

dt

which again proves the Faraday’s law to be ineffi-
cient as it is predicting different results for different
observer.
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Figure 10: (a) A coil is moving in an electric field
(b) A coil is moving in a electric+magnetic field

If we apply the concept of motlonal EMF with
equation Fq = qUy X B or qUq,B X B it also fails
because for S, £ = 0 while for §’, £ # 0 (even there
is relative motion between the coil and magnetic
field, having net increasing magnetic flux inside).

Note that if EMF get induces in S’, then (i) there
must be a such source of EMF in S frame also
which isn’t (ii) its magnitude and direction of
induction will be unpredictable (indeterminate)
as the observer S’ can have any velocity ie if
v=+4ve = & = +ve, v = —ve = £ = —ve and
v = 0 = £ = 0 which is not possible as a system
can’t be affected by an observer’s state. So, it
proves that no EMF will be induced in the figure
10[(b), but how is it possible as there is a net



increasing magnetic flux inside the coil in S’ frame?

Solution is mentioned in the section{5.5| by intro-
ducing a new property of an electric field field
which is still untouched from us (Drag property).

4.2 Charge-coil system

Suppose there is a coil (having a bulb) and a charge
placed in free space such that the charge is residing
outside the coil, as shown in figure [11|(a). There is
an observer who is observing this system.
Initially, the observer was at rest w.r.t. the system
and observed zero current in it because no current
source was present. Then, the observer accelerates
to velocity v.

Ve coil

coil
 — S —

<
B
<«

(@) (O]

Figure 11: Charge-coil system

After achieving this velocity, he finds that there is
a magnetic field inside the coil (figflI}(b)), which
is not produced suddenly but increased gradually
from zero to B during the acceleration of the ob-
server.

So, the question is, was there current in the coil,
or did the bulb glow during the acceleration of the

observer because was non-zero during the ac-

] dt
celeration?

The answer is no! because acceleration of the ob-
server cannot affect the system. There can be mul-
tiple observers at a time where one can be at rest
while the other at acceleration, but for all, the sys-
tem will show the same result as the events are
frame-independent. So, Faraday law again failed
here.

Note that the production of magnetic field by a
charge is a relative phenomenon, which means that
to get magnetic field, it is not necessary or the only
option is to move the charge, but the observer can
also move to obtain the magnetic field. If a charge
has some velocity with respect to the observer, it
will have a magnetic field, no matter which one is
accelerated to create this relative velocity.

4.3 Capacitor and a moving coil

We have a charged parallel-plate capacitor and a
coil is moving inside it, as shown in figure In

E )
YYVVVY coil

1

Figure 12: Capacitor - coil system

the coil frame, there is a increasing magnetic flux
inside the coil as the electric field of the moving
capacitor produces magnetic field B = HET X E
and so a current should induce in the coil, given
by

7 & 1ddp  pe v2El

R R d R

(15)

But study the same case from the capacitor frame
and apply the Faraday law. In this case, no mag-

netic field is present, and so — = 0 implies current

should not be induced in the coil.

So, which one is true? It also proves that the Fara-
day law is either wrong or incomplete.

These all experiments proved that our knowledge
about electrodynamics is not sufficient to handle
every situation, as these laws (Lorentz law and
Faraday law) fail in the case of a non-absolute
magnetic field. These laws are limited to abso-
lute magnetic only, and the reason is that these
laws are experimental laws, i.e., developed from
experiments where absolute magnetic field is used
(magnetic field due to current-carrying wire, per-
manent magnet, etc.). Hence, these laws are not
the evergreen laws that can handle each and every
situation of electrodynamics. But we can find that
evergreen law using the concepts of electric drag
force, law of conservation of energy, and Newton’s
third law.

5 Electric drag force [Beyond the
Known: Introducing a New
Property of Electric Fields in
Scientific Research]

In figure [10|(b), there is motion of a coil in mag-
netic field (having increasing magnetic flux) but
no EMF induces in it, while in figure [9] no mag-
netic field is there but still EMF induces in the
coil. It happens because the extra force, or non-
coulombic force, which we are calling as magnetic



force, doesn’t arise from a magnetic field but rather
arises due to the relative drag of charge in a pri-
mary electric field called electric drag force.
Electric drag force: Whenever a charge drags
in a primary electric field, i.e., it has some relative
velocity w.r.t. the field in its L direction, it ex-
periences a force called electric drag force ﬁd (in
addition with electric force qﬁ) This drag force
sometimes appears as magnetic force; when ob-
served from some specific frame, and seems like
it is generated due to a magnetic field (we will see
later).

Let’s find the expression of this electric drag force
using conservation of energy and Newton’s third
law.

Expression of electric drag force

Equation [f] is dimensionally correct for the non-
coulombic force on charge, i.e., it is directly pro-
portional to the charge ¢ and electric field F, and
so in ﬁg (¢ and ¢’ are moving with velocities U
and U respectively):

e T2

Figure 13: Two charge system

1) Drag force on ¢ which is Fy; is proportional to
q itself and the electric field E (due to ¢) .

2) Total energy (U) of the system is U = P.E +
K.E = constant, and it will remain conserved as
neither any external force is acting on this sys-
tem nor any loss is happening (the only energy

loss could be EM radiation, which we are neglect-
ing here). So, — = 0. The drag forces acting on

charges (Fy; on g and Fj on ¢') are the internal
forces for this system. Hence, net work done by
these forces will be zero, i.e.,

Wgy +Wgy,, =0

Taking derivative w.r.t time on both side, we get

d

dt

d

dtWFdQZO = ﬁd1-61+ﬁd2-ﬁ2:0

WFdl +
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Applying Newton’s third law, we get ﬁdl = —ﬁdg.
So, the above equation can be written as

Fgi @ — Fyy - = Egy - (U1 — ) = Fygy -T2 = 0
= ﬁdl 1 %, , (where v, is the relative speed)
Similarly, ﬁdz 1 7,
3) Drag force always lies in the plane of 7, x E, as
if we take any other direction out of this plane, it
will violate Newton’s third law.
Let the direction of drag force be along an + bp
(where 7 is along v, x E and p is any random unit
vector in the plane 7, X E and a, b are the arbitrary
constant).
For the situation shown in fig. n for both ﬁdl
and ﬁdg comes in the same direction (if ¢ and ¢’ are
of the same nature), which proves that drag force
can never go out of the plane of o, x E ; otherwise,
it will violate Newton’s third law.
So, from (1), (2), and (3): -
A force proportional to ¢ and E , which is perpen-
dicular to v and lying in the plane of ¥, x E, can
be written as

Fy=kq (@ x (7, x ) (16)
where k is a constant. Replace this k with a ue,
ie.., (k = ape), where a is another constant, we
get

Fy= a qb, x pe(v, x E) (17)
It is nearly the same as equation 6, but it is frame-
independent.
This law is an evergreen law. It can handle all the
situations of electrodynamics.

Property of electric field

e When a charge q is stationary in an electric field
E, it experiences an electric force given by F= qﬁ.
e But if the charge is not stationary w.r.t. the elec-
tric field, i.e., has some relative velocity v, w.r.t.
the electric field, it will experience an extra force
along with the electric force, known as electric drag
force, given by

. v2

Fy=aqFE C—g sinf p (18)

where 6 is the angle between E and ¥, and pis a
unit vector along @, x (¥, x E). This property can
be called as drag property of electric field .



5.1 Explanations of all the failure men-
tioned before (using the concept of
electric drag force)

) Sec When the system is observed from S’
frame, no magnetic field is there but still the EMF
is induced because of the drag property of electric
field. Due to motion of coil in the electric field, free
electrons experiences electric drag force as given by
equation{I7}, which cause generation of the &, given
by
E= W = ape Ev?l (19)
When it is observed from the S frame, this EMF
remains the same as same drag is happening for
S also. But here, it seems like it is generated
due to the motion of the coil in the magnetic field
pe Tx E as £ = Bul = pe Ev?l (v, = v) which
is not the actually true as it is good to S frame
only. For S’, concept of magnetic doesn’t hold. It
proves that magnetic force is nothing but the elec-
tric drag force. We will find the value of a later.
(2) Sec{4.2] In this case, the observer is accelerat-
ing, but the relative velocity between the electric
field of charge and the coil is zero, hence no drag
force generated, causing zero EMF. Until unless
zero relative velocity is there, no EMF will be gen-
erated.

) Sec.1} There isn’'t any relative motion be-
tween the charges; hence, no magnetic force or elec-
tric drag force is there, no matter what the value
of 0 is.

Sec 2( In thls case, U, X E=0i e. , angle be-
tween U, and E is zero. Hence, Fd or Fm =0.

Sec-: Mentioned at sec-

5.2 Two charge with different velocities

] E

Take the situation as shown in the above figure,
where ¢ and ¢y (both are of the same nature) and
the observer S are moving with v, , ¥y,, and Ups,
respectively, in the same direction (v, > i, ).
According to equation{6}

= If (Vobs < Vgy) OF (Vobs > Vg, ), charges will at-
tract each other magnetically because of their mo-
tion in the same direction.

= If (vg, < vops < vg,), charges will repel each
other magnetically as now they are moving in op-
posite direction w.r.t. the observer.

But it is not possible, as an observer can’t affect
any system.

According to equationd{11}

= If (Vobs < Vgy) OF (Uops > Vg, ), the direction of
magnetic force of both charges comes in the same
direction (action-reaction force)

= If (vg, < Vops < Ug,), the direction of magnetic
force comes in the opposite direction.

So, these all proves that equations{6| and [I1] are in-
complete in themselves, as they are giving frame-
dependent result, which is not possible.
According to electric drag force equation,
the non-coulombic force (i.e., magnetic force) on
the charges will be always equal, opposite and
frame independent, which is given by equation{Ig]
as

aﬁw(vl — v9)?sin @

2
Am 12 (20)

Fig = Fino1 =
Hence this is the actual equation of magnetic force
(or the non-coulombic force) between two moving
charges. In figfd], v, = 0 while in fig{7], § = 0, and
hence in both the case, ﬁm = (0. These situations
can’t be handled, if we consider the equations [0]
and [11}

We can cross-check it using another thought ex-
periment also as below.

5.2.1 Stationary charge also applies mag-
netic force to moving charges

In the above case, if vys = vg, then according to
both equations [6] and [[I] Fi,21 = 0 and so if we
replace this charge with a coil (moving with the
same velocity), no EMF should be induced in the
coil as there also, all the free electrons of the coil
will experience zero magnetic force.
But study the same situation from the coil frame
ﬁg—. oru . In that case, observer will find
that a Charge is moving towards the coil, creating
a net changing magnetic flux inside it and causing
the generation of EMF.
The question here is, which one is true i,e will the
EMF induce or not? If not, then it means that,
a charge can never generate any EMF in a coil,
whether it is at rest or at motion w.r.t the coil
which mean that a current carrying also can’t gen-
erate any EMF in a coil moving toward it (fig-
B(b)), which is not true. Hence, it proves that
EMF will be generated in that coil.
But, we can’t handle this situation (in the charge
frame) if we consider equation@ ori,e F01 =0.

11



The only solution is the electric drag force i.e.,
Fino1 # 0 = no matter what the velocity of charges
are w.r.t. the observer, if there is relative motion
between them, an electric drag force will arise be-
tween them (as given by equation. This drag
force will cause the generation of EMF in the coil

of fig{14|(a) or [14|(b) (see from the charge frame),
given by

1 (= -
Ezj{Fq-dl:a
qJi

2
2L Esingdl
1 C

It is observer independent and remain same for ev-
ery frame. For the observer of coil frame, this equa-

5 while for charge

tion is equivalent to & = a

frame, we don’t have any option other than the
concept of electric drag force.
So, it proves that a stationary charge also
applies magnetic force (or electric drag
force) on moving charges.

Modification of Electric drag force equa-
tion

Taking the angle between v, and E as 6 and e =
1/c, equation can be modified as

F=a qb, x pe(v, x E)

=a EU—’% U E
=aq 2 Op X (0p X E)
—agB Y (o B)or— (5, i) B
=agq 2 (r - E) 0 — (0 - Oy)
—agE 00, —E
=aqlk -5 (cost o
2
:aqEZ—g (cos@(cos@E—i—sin@EJ_)—E)
U? .20 F . ~
=aqlb — (—sm 9E+COS€SID9EJ_)
c
in6)* - ing. 0) -
— B (’UTSI;I ) Bt gk (v sin 2vrcos )EL
c c
2
. V) -
Feap U B 1w ( ”2’"”)
c c

Hence F = thE + aﬁLE , Where

2
FhE:—qE (v:;_) E ., (v, =v.sinf)
. UVl Up|) 4
FLE:quEL , (v = vy cosb)

2

(21)
Here, || and L are w.r.t. to electric field E i.c., ﬁ||E
and F| g represents the component of electric drag
force along E and perpendicular to E while v,

and v, is the component of v, (relative velocity)
along E and perpendicular to E (v, = v, g
and v, = v, 1g). In the equation (above) of
ﬁLE, E| represents the direction of v, | (or vy, 1 E).

Note that the direction of an electric drag force on
a charge in the direction of electric field i,e Fjp is
independent of direction of velocity of charge (w.r.t
E). We can also see it in the fig{l4|a) and fig-
14((b) where in first one, charge is moving toward
the coil while in other, it is moving away from the
coil, but still the EMF in both coil is induced in
same direction (use the concept of motional EMF
and vy p = 0) because the free electrons of both
the coils are experiencing drag force (or magnetic
force) in the same direction. It justify the above
equation. These all are the cases of an ideal sit-

v/ L 7}
coil

(b)

(@)

Figure 14: Charge coil system

uation where charges are not under any external
force, i.e., energy transfer to the charge-system is
Z€ero.
But, in the case of a current-carrying wire, the
situation changes slightly as an external supply of
energy (battery) comes into the system, which con-
tinuously supplies (or extracts) energy to the cir-
cuit/system. So in these cases, equationchanges
slightly to

FZGFHE—I—I)FJ_E ,(a;éb) (22)
because, now energy conservation equation of sys-
tem can be written as (taking the battery also as
the part of system)

WFdl + WFd2 + A[Jbattery =0

d(Ubattery)
dt

(23)
=0

= ﬁd1-171+ﬁd2-?72+
5.3 Force between two current-carrying
wires (calculating using the concept

of electric drag force)

Suppose we have two wires, wy; and ws, carrying
currents I; and I>. Using the concept electric drag
force, we can calculate the magnetic force between

12



them. Let A1, A2, Ar1 and Ao is linear charge
density of moving charge (free electron) and rest
charge of w; and wsg respectively (A1 + A1 =
0 = A2 + Ar2) having velocity Up,1, Ume, 0 and 0.
Eﬁ?l and_’E_’Tl is electric field due to A1 and Apq
(Eml + Erl = 0)-

Case-1: (w; || wo)

Lets calculate force on wo (for length=[) due to w;
. Here, we have four relative velocities:
(1) between E,; and Am2, which is U1 — U =
_77m2

(2) between E,; and Aro, Which is ¥y — U0 =0
(3) between Eml and \qo, which is U1 — Tro = U1

(4) between E,,1 and Ao which is 1 — Gmo

[ [
— "
Arl A 2
R i
“
.—\
A1 Az
l Umi1 ivmz
w1 Wo

These all veloc1t1es are perpendlcular to ! the electric
fields Em1, Erl, Emg, and E,5 and so FlE =0 (as
v =0) ie, F= EF”E. Hence,

2
— .
+ )\r2l Eml (7221)

(Uml)2
62

(Um2)2

= —a |:_)\m2l Eml — a2 Ale Eml
C

2 2
(vml + Um2 —
C2

. 2
+ Amal Bt ”mwm?)}

E 1Um1
Mlz2a)\m2vm27 S
2mer ¢

1

L€

= 2a )\mQUmQ

pwlhixl
7

=2
“ 2rr

(cI=X, &=
Putting a = —1/2, we get the exact same force as

the Lorentz law describes, i.e.,

pwhixl
7
2rr

F=—

(24)
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Ami Uml

;
Fip ==Y adf )

It proves that the magnetic force between two
current-carrying wires arises because of the rela-
tive velocity between the charges but not because
of the motion of the electrons w.r.t. the observer
(existing understanding) i.e., the forces are in
between the rest charge (of one wire) and moving
charge (of another wire), but not in between the
moving charges (if their relative velocity is zero).

d(U, a
M:O as »_ F-U=0. So, it can be

treated as an ideal case because energy of battery
is not participating in the process.

Here,

Case-2: (w; L wy) and (ws || E,,)

Here also, we have four relative velocities
(1) between E.; and A2 which is @ —
—Um2 B .,

(2) between E,; and A2 which is ¥, — the =0
(3) bAetween E,,; and Ao which is @1 — e =

Um2 =

Um1 Erl,J_
(4) between E,,; and A2 which is U1 — e =

Umi1 Erl,L — Um2 B

—
Arl
Ar?_l W
| 2
‘—l AmZ >
Aml l m2
l F
Um1
w1

Force on elemental length dl of wg due to wy is

(02

(0)2

= —a [/\mg dl E. + Nodl Enq

(Um1)2
2

(Uml)2

+ Ao dl Eppy + Amadl By =5

=0



— U,|U A~
FLE:E bgE = B,
C

(—Umg).o ~

=b |:Am2 dl Erl 2 Erl,J_
C

0)? .
+ Ar2dl By (cg Eq 1

0.(Um1) ~

+Ar2dl By =5 B 1

(Y U ~
+)\m2 dl Eml % Eml,J_

Amo E .
b m2 mlzvml Vvma dl Eml,J_
C

)\m )\m m v -
— p 2m2Amd Uml Bomz g

- 2mer c2 ml,L
LI dl -

Total force on dl isﬁ:F]|E+ﬁLE
LI dl -
:(,'M2L]5ml’l

Tr

Taking b = —1, it becomes

_ Lilrdl -
F=—P2 B (25)
Tr

It also matches the result we get from Lorentz

law.

da(U, -
Here, (bdaztery) #0 as Y F-U+#0 (drag forces
are always equal and opposite) and so, it can’t

be treated as an ideal case. Due to this reason,
value of a changes to bi.e., a=—1/2 and b= —1.
From these two case, we got the value of a and b.
We choose these above two cases for finding the
value of a and b because these are experimentally
verified (case of absolute magnetic field), but
none of the experiment related to non-absolute
magnetic field is verified and so we can’t use them
to find the value of a.

So, the final expression of electric drag force will
look like:
(i) For ideal case:

. 1 .
F = ) qUy X pe( v, X E)
(ii) For non-ideal case:

F-lum (””)QE _ 4E
—2q c? 1 c?

(UTJ_ U’I‘H) EA'J_ (27)

Note that the value of a in equations [19] and
alsois —1/2  (a = —1/2), In case of non-absolute

magnetic field, result comes from electric drag force
is different from the result we get from the Fara-
day law or Lorentz law. But it doesn’t mean that
concept of electric drag force is wrong as these law
themselves fails in case of non-absolute magnetic
as they predict different result for the experiment,
when observed different frame, and so we can’t rely
on these law. These laws hold for absolute mag-
netic field only as these are experimental law, de-
veloped from experiments with absolute magnetic
field. In case of absolute magnetic field, result from
electric drag force and from these laws will match
always (we will see later).

Case-3: (w; L wy) and (we L F,q) ie., wy

is along the magnetic field of w,

Here, @, = 0, so Fip =0 and

2
ﬁTotal = F]|E = _Za qE (vré)
C
2 2
- _a |:)\m2 d By U2 By O
C C
2
b vl By )
C
2 2
+ A dl By (W) ]
=0
(28)
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5.4 Force on moving charge in the mag-
netic field of current carrying wire
(using the concept of electric drag
force)

1. Charge’s motion is along the wire

Here, vy =0= Fi g =0, but

Fy=Fp=>)
1qﬁr 2
= 5 2 (UQ) +
1qE'm

14E ,
5@ U
1 qu
5 2 (vq -
1 qE
_ 2 m
T2 2 (va) Ty
_qEm (20 — vim)vm,
c2 2

(vg —

Note: E = E#, where E = +ve/ — ve (because
E = f(q) i.e., E, = 4+ve and E,, = —ve) and the
direction is always along the 7 (radial direction).

The value of v,,, i.e., the drift velocity of the elec-

tron lies in the range of 1073m/s. So, if v, is

even few meters per second, it can be neglected

(vn, << vy), and this equation reduces to
qEm

Fy=~—vnvy=quy B

= (30)

It matches with Lorentz law. But for small value
of vy (comparable to vy or zero), Lorentz law will
fail, as in that case

qF, v v
=1 (o8 e (3 8
(31)
o If v, =0, F, =0 , because of net zero drag
(1=0)
B
oifv, =0, F, =12 (Foco?)
qum B

o If vy = vy, Fy =

o if v, = vy, /2, F, = 0, as drag force due to E,
and FE, becomes equal and opposite.

This is the reason when a charge is placed in
a magnetic field (such that v, = 0) of current

15

carrying wire, it experiences a net minute
force [[|6. It can’t be explained by Lorentz
law.

2. Charge’s motion is 1 to the wire, moving
away from it

Here, the charge ¢ is moving toward the current-
carrying wire (having current I) with velocity ¢
(perpendicular to the wire).

If we use the concept of magnetic force, New-
ton’s third law get violates [0] as magnetic force
on charge is

Magnetic field at point P due to moving charge is

_ pqugsing cos® 0

B
472

and so magnetic force on wire due to charge (reac-
tion force) is

in 6 cos® 6
Fy, :/Bldy:/'uqvq zm ;OS Irsec? 0do
r

( y=rtanf . dy=rsec’ddf )
:/qusmﬁld@ 0
4drr

But if we use electric drag force, we get the same
action-reaction force, which also matches the result
that came from the Lorentz law.


https://pubs.aip.org/aapt/ajp/article/55/5/420/1038666/Magnetic-force-due-to-a-current-carrying-wire-A

- 1qF .
A=) 5@
1¢E - 1 gFE .
L e s L g,
_ qu'Ugn Em
2 c2
— VUp||Url -~
FJ_E:_ZQE TLQT Ey
V.0 - Vg.Um ~
= _qETZT E.1 — qbm % Enmy
qF,, vy -~
= O By
- _ v2 E,v
= Fq = ‘FHE'FFLE‘ :q( ZmJFUg) TZQm
= quyB
((Um << vg as vy, = 107%m/s)
(32)

Here also, Lorentz law will fail for small velocity
of charges.

The force on the wire due to the charge (reaction
force) will be same as this F, (action force)
beceuise drag fgrce is always equal and opposite
Le, Fy g = —Fooqr-

3. Similarly, if charge’s motion is | to wire
as well as E,, i.e., along the magnetic field, then
the drag force (or the magnetic force) on charge
comes out will be zero (using equations .

General derivation of Lorentz law using
the concept of electric drag force

If charge has any random velocity v, = Vgl + vy}' +
v,k in the magnetic field, the total force on it will

be (using equation [30| and

— Vy-Um » Vg . Um ~
Fq:qu mez_quLzmj
C C
EmUm( A A.)
=q——F—(vyi—v
2 T (33)
~ ~ A Voy ~
= q(vxi—l—vyj + v.k) x ”;ka

qUy x B
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v = Ul + v f + v K

I 4

So, there is no need to consider the direction of
motion of the producer electric field as the overall
force becomes independent of it, i.e., depends only
on the direction of the magnetic field (provided
U, << Ug).

So, if there is more than one source of magnetic
field, it will becomes

ﬁq:qﬁqxgl + qﬁqxég 4+ -+ q@'qxgn
= qUq X (§1+§2+"‘+§n)
= qu X Bhet
(34)
It will holds only when v,, (velocity of electron) is
very small w.r.t the charge’s velocity; otherwise,
this magnetic force will depend on the direction of
motion of the producer electric field producing the
magnetic field (w.r.t. the charge).
Lorentz law is developed from experimental obser-
vation (using absolute magnetic field), but here it
is derived using the concept of electric drag force.
Lorentz law is a special case of electric drag force
We derive this formula for absolute magnetic
field (with v, << v,) and so it holds for absolute
magnetic field only. In the case of a non-absolute
magnetic field or v, = v, it fails, but the concept
of electric drag force holds everywhere.

5.5 Solution of sectiond4.1]

i)
In ﬁg(b), il

dt
dd
fig —5 — 0 and Eeoit # 0. This violets the

Faraday law. It can’t be explained if we rely only
on the concept of magnetic field as there is no
magnetic field in fig{9] but still the generation of
EMF is happening. We won’t have any solution
of it, if we don’t believe on the concept of drag
property of electric field. Even the special theory
of relativity can’t fix it, which also proves that all
magnetic phenomena are not the effect of length
contraction of electric fields. So, the only solution
of this case is the electric drag force.

~# 0 but &,y = 0 while in

coil




In fig{9] the velocity of coil w.r.t the electric field
(i.e., relative velocity) is vcE” —omE | . Here v, =
Uy, and Vp|| = Ve and so the EMF induced in it can
be found using equation [21] as

Url £

1 = E2 E’UTHUTJ_A -
S:qjl{Fq-dl:Z{[262E— = EL].dz

M Aevrivrn L /1 1
B 2 (7’1 B T2>
(35)

This expression of EMF is same as equation{l3]
and it is frame-independent (no matter from which
frame the system is being observed, it will remain
the same for all), and so it will remains same for
fig{8|(b) also. Hence, in both the fig{8|(b) and fig{9}
same EMF is inducing and it is true because these
two figure is representing the same experiment (ob-
served from the different frame of reference). It
can’t be explained if we use concept of magnetic
field.
For the fig{8[(b), this equation can also be written
as (v, = 1),

g vl (1 1Y) _ dPp,
2T T 9

where it seems like, it is generated due to the
changing magnetic flux, but the actual reason is
the electric drag force, as the concept of magnetic
field is limited to some particular fame only.

In similar way, in fig{10[a) and fig{L0[b), v, =0
and so from the equationf2I] in both the cases,
Eeoit = 0, even there is changing magnetic flux in-
side the coil in fig{10|(b).

Fig(a) i,e case of neutral current carrying wire
is the combination of these above two case, and

50 Ecoit = Ex, + % (\)Nhich is equation and it
again matches with equation (case of absolute
magnetic field). In this situation, if the system
is observed from the ). frame, it seems like the
EMF is generating because of motion of the coil
in the magnetic field produced by moving A, and
if we calculate the EMF produced using this con-
cept of magnetic field, it will match exactly with
the equation{I2] but it is not actually true as A,
can’t generate any EMF (as its v,; = 0). In both
Ae Or A, frame, it is produced only due to the elec-
tric field of A¢ (through the drag property). So,
matching of few result doesn’t always prove that
the physics or concept used behind is 100% cor-
rect.

6 Magnetic field doesn’t exist

The only source of magnetic field is the moving
electric charges or the changing electric field, as
magnetic charge doesn’t exist. But what if I say
that “neither the moving charge nor the changing
electric field produces any such real field, which
we call a magnetic field”. Here are a few situations
that proves this statement:

(1) Taking the case of moving charge: If a moving
charge really produces a field (magnetic field) on
its motion, then a charge (¢1) moving with veloc-
ity aj + b m/s should must experience a magnetic
force near a moving charge (g2) having velocity
aj (where charges are approaching each other as
shown in the figure) due to the surrounding mag-
netic field (Bz) produced by the moving charge go.
But the charge ¢; doesn’t experiences any such
magnetic force (proved in Sec, which proves
that, no any such real field (magnetic field) is there,
other than the primary electric field of the charges.

(2) Similarly in figure [L0[(b), there is a magnetic
field in the surrounding space of line charge,
but still no EMF is inducing in the coil during
its motion in that magnetic field (having net
increasing magnetic flux inside). It also proves
that there isn’t any magnetic field; otherwise,
generation of EMF would have happened.

(3) Let’s see this case (figl0(b)) in some another
way also. Here, A\, is moving with velocity ¢,, and
UAeUm

27r
around itself. If any coil moves in this magnetic

field with any velocity ai, parallel to the line
charge, no emf will be generated in the coil as
the magnetic flux inside the coil remains constant
(d‘;% = 0). It means a velocity (of coil) along the
line charge can’t generate any EMF, nor can it
affect the existing EMF (if any).

When the coil moves with velocity b, a non-zero
EMF induces in the coil because of dfl)tB £ 0, given
by equation{I3] So, if the same coil starts moving

S0 it is producing a magnetic field B =
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with the velocity ai+ bj', the same EMF should
be there in the coil, as the velocity component ai
can’t affect or change the EMF induced due to
the velocity bj. But it also doesn’t happen as in
when a = vy, Eco = 0 (identical to fig{l0|(b)) and
Eeoit # 0 when a # vy, .

It again proves the same thing i,e no such real field
(magnetic field) is present in that surrounding
region of the moving line charge. Even the expres-
sion of EMF derived from the concept of magnetic
field (equation is wrong as it is depending on
the velocity of line charge w.r.t. the observer, i.e.,
larger the observer’s velocity (w.r.t. the system),
the larger will be the EMF, which is absolutely
wrong as the EMF can’t depend on the state on
observer.

The actual expression for this EMF is equation{35]
(derived using the electric drag force equation),
which state that until v, is zero, no EMF will
generates, no matter what magnitude of magnetic
field is present there, because the actual cause
of EMF is the electric drag force, not the mag-
netic field. In another word, magnetic force is
nothing but electric drag force, which seems to
be generated because of magnetic field, but the
actual reason is the relative drag with the primary
electric field.

Conclusion of these all is “Magnetic field is not
a field, but just a mathematical parameter which
measures the flow of electric field (primary), given
by B = He v X E and the effect or phenomena
seems to be arose due to magnetic field is basically
the effect of electric drag force.”. In another word,
moving electric field itself is magnetic field. A
stationary charge also has the magnetic field, but
for the moving observer. It means it doesn’t have
any physical existence. This is the reason why
particle corresponding to magnetic field (magnetic
charge or magnetic monopole) doesn’t exist or has
not been found yet.

In case of current carrying also, there isn’t any
real field (magnetic field) around the wire, but
there’s just moving electric fields. When charge
moves in this region, it experiences force not
because of a magnetic field but because of the
drag property of an electric ﬁeld which is equal to
q¥ x B (equat1on where B _is a mathematical
expression which is equal to B = 3 ue(7 x E).
Because of this expression (equatlon-., illusion
of magnetic field is created as it seems to have
been generated because of any such real field E,
called magnetic field, but that is not actually true.

Similarly, (i) the magnetic force between two
current carrying wire arises not because of any
magnetic field (as the equation F = il x B
describes) but it arises because of the drag prop-
erty of the electric field (electric drag force) as
mentioned in section{5.d| Wthh is mathematlcally
equal to the the expression F =il x B where B
is just a mathematical term.

(ii) A stationary charge also applies magnetic
force or electric drag force to moving charge
as mentioned in sectiond5.2.1] which can’t be
explained if we consider the magnetic field instead
of the drag property of electric field.

So, all the phenomena which seems to be caused
by a real filed called as a magnetic field are
basically the effect of drag property of the electric
field or electric drag force.

We will discuss the case of the permanent magnet
later.

Note that we can’t consider both the magnetic
force as well as electric drag force; otherwise force
on charge in sec5.4] will be 2 gvB which is wrong
(experimental fact), and if we consider magnetic
force instead of electric drag force then sec{4.1] 4.3
and can’t be explained. So, the only option is
electric drag force which explains all the cases.

Here are a few more situations that prove the non-
existence of magnetic fields, but before that, let’s
examine the validity of electric drag force equation
once again.

Final verification of electric drag force

Now there is no doubt on the existence of drag
property of electric field as without it, sec{3.2]
and can’t be explained. So this property
of electric field can’t be disproved at any cost.
Also the expression of electric drag force will be
F;=a qUy X pe( vy X E ) because equation+6|is di-
mensionally correct for the extra or non-coulombic
force on charges, but if we take it as it is, then it
starts to fails in many situations i.e., if

. Fd = a qUy X pe( Vg x E) it fails in sec

o Fy= a qb, x pe(Tg x E), it fails in sec and
in figures and [0 on studying from the frame
of electric field.

e Fy=a qUy X pe( Ty X E), it fails in figures
[15](b), 12 and [9] (study from any random frame and
calculate the &, using this equation i.e., E.u; will
depends on the observer’s velocity (w.r.t the sys-
tem), which can’t be possible).

Hence the only option we left with is
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o £y = a q, x pe( T, x E ), it handles all the cases
(so, both the velocity should must be the relativis-
tic velocity).

6.1 Moving rod system

Here is a current carrying wire (A.+\,) having
current I (Ao is moving with velocity #,,) and
a line charge A, (= \.), moving with velocity
Uy (= Tn). There is a rail with a moving rod
(having length [ and velocity %) on the side of both
the wire and line charge as shown in fig{15]
According to the concept of magnetic field, EMF
induced in both the circuits will be the same as in
both cases; the same magnetic field is there in the
surrounding space, and so
In <

But, according to the concept of electric drag
force, it isn’t the same.

In case of wire: Using equationf2I] we get
the EMF same as this above equation i,e

glzwln@).

2mr
But in case of line charge: Using equation{2I] we

T2

|

_ HAURY

I
E1=E = /Bvdr = M—vdr =
2rr 2rr

1

get
1 v2 1 Ae (v—vp)?
== | BELtdr=-"—2-~—~— "4
2 2/ 2T 99er c? "
_ pAe(v — Um)2 n (7"2)
4rr r1

It is not same as the above one. To cross-check
it, study this ﬁg(b) from moving rod frame. In
that frame, the result from concept of magnetic
field and electric drag force will matches exactly
with each other.

(@) (b)

Figure 15: Two rods are moving in identical mag-
netic field, having different source

)

(A suitable experiment is mentioned in paper-2
for its experimental verification)

So, even though the same magnetic field is there,
they are not inducing the same EMF. Also, (i) in
the first one, it is directly proportional to the rod’s
velocity, while in the second one it is proportional
to (v — vy)? (ii) if v, =0, & = 0, but if v}, = 0,
&> may or may not be zero, depending upon wv,
i.e., here v, is not the deciding factor (iii) &
depends on the direction of motion of rod but &
in independent of this direction.

Here, Faraday law and Lorentz law is holding for
the neutral current-carrying wire (and also match-
ing with electric drag force result), but violating
in case of line charge system. It happens because
these laws are experimental law, designed on the
basis of experimental observation, where an abso-
lute magnetic field is used (not the non-absolute
one), and hence these laws holds in all those cases
where the magnetic field is absolute (providing
U — 0).

6.2 Rotating coil in an electric field

6.2.1 Plane of coil is parallel to electric
field

If a rectangular coil rotates in an electric field (non-
varying) about one of its sides such that the axis
of rotation is along the electric field (ﬁg, then
in this case also, an EMF will be induced in the
coil due to the drag property of electric field, given

by
1 [ & Ev?| . Evyvro . -
g:qqu'l:jg[?@ — 2 E| | -d
_Ew2b2l
2 c?
(37)

where, E=Electric field applied in the region
w=angular velocity of the coil
[, b= length and breath of the coil

But if we use the concept of magnetic field, there
shouldn’t be any EMF in the coil as there is nei-
ther any magnetic field nor any changing electric
field (which can act as the source of magnetic
field). The only field present is the non-varying
primary electric field, which itself is a conservative
field, and so it also can’t induce any EMF in that
close loop.

But now it is 100% sure that EMF will be induced
in the coil, as it is proved in Sec. [6] that we don’t
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pur> concept of magnetic field, then EMF shouldn’t be

4 + t e B + + induced, but that is not true.
b
. 6.3 Electric drag force on a current car-
L rying wire in an electric field
. ol If a current carrying wire is placed in an electric
I
1

field , it will experience zero electric force as wire
is electrically neutral. But due to moving electron

Figure 16: Rotating coil in a stationary electric inside , it will experience a non-zero electric drag
field force. For the length [ , it will be equals to (using

equation

have any option other than the equation (A
suitable experiment is mentioned in paper-2 for
its experimental verification)

1 v2 . IFEv.sinf
Fd == 5)\elE C%SIDH == 2702

(39)
where I, E and 6 is the current, applied electric

field and angle between [ and F. To estimate the

L . range of this force , let’s take I = 1A, E = 105 V/m
6.2.2 Plane of coil is perpendicular to elec- and 0 = 90° (ve = 103 m/s). So the magnitude of

tric field this force is about 10~4N which is very,very small.

Here, we have a circular coil whose plane is per- So, it very difficult to observe this force.
pendicular to the electric field (take the direction

of the electric field as the z-axis). If this coil moves 6.4 Current carrying wire doesn’t pro-
in the direction of an electric field along with an duce Stationary magnetic field
angular motion, EMF will be generated in the coil

due to the drag force, which will be equals to As sec{3.I]suggest that magnetic field travels along

with its producer charge and so , in case of current

e Evz L p Ev, v, lEA i carrying wire also , magnetic field isn’t stationary
- f; [ 202 2 l] ’ but moves along with its producer charge (as
O Ewrv (38) magnetic field is nothing but the moving electric
=TT a2 field itself). If not and taken to be stationary,

then the first question arise here is, w.r.t whom it
where v= velocity of coil along the electric field £ is stationary?
w= angular velocity of coil (i) w.r.t observer (i) w.r.t A, , or (ili) w.r.t Ae
r= radius of the coil

charge moving is its magnetic field
{ X > with any velocity should experience V)
| E zero magnetic force because as when

= it is studied from the charge frame,
then according to option-(i), vg3 = 0

If it is taken w.r.t observer, then any ‘

\j

N

IS

\J

which implies F,, = 0. So, option-(i) 9
can’'t be true. If it is taken w.r.t A, | Ze
then why not it can be taken w.r.t A, l

as (i) both are moving (as shown in
Figure 17: Motion and rotation of a coil in an sta- 4}, figure, I = Aove + A\pvp), (if) both

tionary electric field

\J

are electric charge, which caries same

property (the only difference is the polarity, which
If this coil only moves (without rotation) or only can’t make their behavior different). Hence, it
rotates (without motion) in the electric field, then can’t be taken stationary w.r.t any one of them
no EMF will be induced. (A suitable experiment as both will behave in a same way. If we take
is designed and mentioned in paper-2 for its ex- wvp = (ve + vp)/2, then it also can’t be true as it is
perimental verification) Here also, if we apply the independent of magnitude of A, and A,, so when
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Ap = 0, what will be the value of vg? Also, it
can’t be v./2; otherwise there will be a magnetic
force on a stationary point charge placed near a
line charge, when observed from S’ frame.

So, the solution is that magnetic field corre-
sponding to each producer charge moves along
with them as secf3.1] suggest (ie., vgp = 0).
Practically, this velocity is very, very small as
electron velocity in wire is about 1072 m/s and so
it can be treated as stationary w.r.t the wire.

So, the explanation of magnetic force between two
current carrying wire using the concept of station-
ary magnetic field is wrong.

7 Failure of Ampere-Maxwell

Law

As we saw, moving charge doesn’t produce any
real field called a magnetic field. Similarly, the
changing electric also doesn’t produce any mag-
netic field. Here are a few proofs of this.

7.1 Magnetic field due to moving charge

Magnetic field due to moving charge ¢, having ve-
locity ¥ (v << ¢) is given as

= W qU X 7

= =puei x kB
Pdr 2

(40)

and electric field due to the same charge at any
random point p(p, ¢, z) is (taking cylindrical co-
ordinate with origin at ¢ and direction of velocity
as z-axis),

y
. kq . kq P 5
By =27 = a5 —opy (0 +cosf?)
k kq(z — vt
_ qp p+ q( ) 2

3
2

(41)

P2+ (z—vt)?)s (o2 + (2 — vt)?)
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Putting it in above equation{40] we get
Ep = pev X Ep

kqp kq(z — vt)

N>

= pev X o+
<<p2 vt (PP (2 - ot)?)
(as v is along the z-axis)
u qup )
¢

AT (R o)

N

(42)
Value of [ B - dl across the circle of radius p at
z = zp in the x-y plane will be

5.7 1 qup Y
B-di= | — ¢ -dlg
/ AT (02 + (= = v1)?)2
SR L/ -,
AT (p2 4 (2 — vt)2)3 (43)

Here, this fg -dl is produced only due to
Ep. There is no contribution of EZ in it.
It violets the Maxwell fourth equation as
it suggest that changing electric field also
produces a circular magnetic field, given

T 3
by equation ¢ B - dl = dd—tE, which is not

happening here as EZ is changing with time
inside the loop (i.e., dz% # 0), but still
it isn’t producin_g any magnetic field (é
is produced by E, only) and so has zero
contribution in ¢ B-dl.

7.2 Magnetic field due to changing elec-
tric field

Suppose we have a very long cylinder (as shown
in figure of radius rg, placed along z-axis, con-
taining electric field

Ey <
=3 —Z T T
E: z ) 0

07 TZTO

(44)

where Ejy is a constant. This complete system
(cylinder+-electric field) is moving with velocity vz
w.r.t. observer S. Also, there is a charge ¢ moving
with velocity v,2 w.r.t. observer S.

In the cylinder frame, electric field is stationary
(non-changing), which implies no magnetic field
would produced, and hence, magnetic force on
charge ¢ is zero (ﬁq — 0) as B = 0. But, for
observer S, electric field is changing with time in
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Figure 18: A charge is moving near a moving elec-
tric field region

Ey
2o — vt
cording to Maxwell-Ampere equation, it will pro-
duce a magnetic field B around the cylinder (Note:
Maxwell’s equation doesn’t care, how the field is
changing i.e., the only condition for the genera-
tion of magnetic field is the changing electric field,
doesn’t matter how it is changing), which will be
equals to

Zz and so ac-

z =

N
the region S as £ = =0
z

- d<I>
7{B dl = M'%— e =2
d(mrd E) 5dE
B2nmr = uje ———= =
e dt — ATy (45)
B = pe TO dE _ rg vEy
or dt ‘o (20 — vt)?

(encircling around the cylinder)

which implies that there should be a force on the
charge ¢, given by Fy, = qu,2 x B. Even if we take
the produced magnetlc field moving along with
the producer electric field, in this case also, there
should be a force on charge ﬁq =q(vg—v)2 x B.
Here, force on charge ¢ is different for different
frames, which is not possible as if it is zero in any
one frame, it will be zero in all other frames also
and it is possible if and only if there is no magnetic
field produced outside the cylinder.

So, there is something wrong with the existing con-
cept of electrodynamics. This problem arose be-
cause of the wrong correction in the Amperes law
(mentioned in Sec7 which is “changing electric
field produces magnetic field.” The actual cause
of magnetic field is not the change of electric field
but it is the motion of electric field (we will prove
it later mathematically).

7.3 Tom Colbert Paradox (w.r.t. elec-

tric field)

Suppose there is an electric field E= Eotk in the
region z,y € (—00,00). Here, the electric field is
increasing with time linearly. According to the
Maxwell’s fourth equation, this changing electric
field will produce magnetic field in the given
region.

The question that arises here is, what will be the
direction of the magnetic field produced at any
general point P(z,y)? If a magnetic charge is
placed at that point P, in which direction, it will
move?

At every point, the electric field is changing in iden-
tical manner, which leads to the direction of pro-
duced magnetic field to be indeterminate or un-
predictable as each direction is equally valid for it.
There is no such parameter in Ampere-Maxwell
law that restricts this direction in any one partic-
ular direction.

But this is not possible that a vector quatity (mag-
netic field) have an unpredictable direction. It will
have or must have a fixed direction.

The other possibility is that the produced magnetic
field will encircle the changing electric flux region
as given by equation

(46)
(circling around the changing flux region)

as shown in figurefI9] which is also not true as we
still have the same problem regarding the direction
of produced magnetic field at a given point.

Y.ll

Figure 19: Changing electric field over infinite re-
gion

If we take the region C; (fig{l9), the direction of
the produced magnetic field at P will be along the
x-axis (anticlockwise direction, because the mag-
netic field is increasing). But if we take the region
(s, then the direction of B at that same position
P changes to -x axis (still anticlockwise because
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of increasing field increasing). Its direction is
depending on the region we are choosing, which is
not possible as it will have a fixed direction which
will be independent the loops chosen.

At end, if someone concludes that there will not
be any magnetic field produced at point P, then it
will be also wrong as it is against the Maxwell’s
fourth law which states that, for a closed loop, the
closed line integral of magnetic field is equals to
% which is non-zero here and so, it implies that
the produced magnetic will also be non-zero.
These all again indicates that there is something
wrong with Maxwell’s law.

Solution of this paradox :

Whenever a field changes at any random point P,
then the produced field can have two possibilities:
either it encircles the point P (flux changing
region) or it passes through the point P.

The first one can’t be true as proven in sec{7.2}
and here also, if we use this fact then the direction
of B will remain indeterminate at every points
(i.e., direction of force on the placed magnetic
charge remains unpredictable).

Hence, we left with the second one, which also
seems to be incorrect because in this case also,
the direction of B is indeterminate, but it is not
incorrect; it is incomplete. Here is it’s completion.
For a given field in space, we have only two
information regarding the field:

(i) Field itself and

(ii) its position (flux line)

Strength of field at any point can change in
combination of these two ways:

I) Change of flux density, without any
change in position of flux line

Number of flux line or the strength of flux lines
increases/decreases without any change in position
of flux lines (Formation or strengthening of flux
line)

IT) Change of flux density due to change in
position of flux line, without any formation
or strengthening of flux

Note: Position of line-structured quantity (like
field line) refers to the position of that point on
the line which is nearest to the origin, i.e., position
of field line = position of nearest point on that
field line.

Whenever magnetic field is produced by changing
electric ﬁelc} it will b(i always perpendicular
to it (i.e, Bproduced - Eproducer)- S0, the one
parameter only (the electric field itself) can never
decide that direction of the produced magnetic

field, as every direction will be equivalent for it.
It indicates that there must be another vector
parameter that restricts this direction in one
single direction. The additional information we
have is the position vector of the flux line. But
it is a frame-dependent quantity, and so it can’t
be our required parameter as B can’t depend on
the frame from which it is observed. The change
of position vector doesn’t depend on frame, and
this is our required parameter that determines the
direction of the produced electric field. quzition

also suggests the same thing as B = e K:tn x E.

Hence, the direction of B is along A¥ x E or
¥ x E. This equation further reduces to Maxwell’s
fourth law with little modification, mentioned in

Sec81l

Conclusion of this paradox: Conclusion
of this paradox is that “if electric field changes
without any change in position of its flux lines,
it won’t produce any magnetic field”, otherwise
direction of produced magnetic field at any point
will be unpredictable (as AZ = 0 = ¥), which
is not possible for a vector quantity. (later, we
will derive this conclusion mathematically also
(secf3.2)))

This explains the previous two experiment also
as in the first one (sec, position of E, is not
changing, even the position of charge is changing
(position of flux line changes only when it moves
(or has a velocity component) in a direction
perpendicular to itself) and so, it doesn’t produces
any magnetic field. In the second experiment
(sec, same thing is happening i,e position of
electric flux line is not changing.

So, the only condition to produce a magnetic field
is to change the position of electric flux line.

8 Modifying
law

Ampere-Maxwell

We can derive the evergreen Ampere-Maxwell law
using transformation equation{dl But before that,
we need to see something more.

8.1 Different forms of %

Sometimes, the same mathematical expression rep-
resents multiple things. Rate of change is one of

them.

dm

: o dt’
can be mass flowing per unit time through a given

For example, the rate of change of mass, i.e.,
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surface, called the flow rate. For the fluid flowing
through a pipe, it is equal to pAv, where p, A, v
are density, area of tube, and velocity of the fluid,
respectively.

Also, ‘Z—T can be mass increasing or decreasing in
a given volume V per unit time, called the change
rate or accumulation rate, which is equal to V%.
Both are represented by the same mathematical
expression ”Z—T, but they are totally different as one
is defined w.r.t. surface (flow rate) while another
is w.r.t. volume or closed surface (accumulation

rate).

dm  d(pV) av dp
dt dt Pt dt
N~~~ N~~~
Flow rate Accumulation rate
T
= dt = pdv

(47)

In similar fashion, ‘il—‘f is of two types:
(1) Flow rate (2) Change rate

Mass is a three-dimensional quantity; hence, flow
rate and accumulation rate are defined w.r.t. sur-
face and volume, respectively, but field line is a
one-dimensional quantity, and so it’s flow rate and
change rate are defined w.r.t. line and surface, re-

spectively.

dd d(E-A) d(ELA) dA  dE,
dt dt dt ST
= Flow rate + Change rate
(48)
(1.) %) as flow rate: %?lF
dd dA Id
G|~ B =By = Bulu
F (49)
_(17><E)-f_/(z7xﬁ)-df

It is the measurement of flow of electric field E i
(due to v, ) w.r.t. the line [, in direction perpen-
dicular to it . It is equal to the amount of normal
flux flowing through a given line [ in its perpendic-
ular direction per unit time.

In any region, if the strength of electric field is not
increasing or decreasing with time, it doesn’t mean

dd
“=E — 0. For this situation, only flux change rate

dod
dt |

In case of current-carrying wire, region near the
|C =0, but %‘F # 0 because the
electric fields always move with its source charge.
The close line integral of magnetic field produced
around the wire due to this flowing electric field

is zero, i.e., =0.

: Jeld
wire has pr

can also be written as (using equation and

R - - dd
%B-dl—%ye(ﬁxE)-dl—ue

dt

which equals to ul (for long wire) as (using

equation
dd

(50)
F

€

e I . =pe v, Bl = pue UL2W€T27W =pul
dd
I=¢—
dt |z
(51)
(2. % as change rate: %’C
dd dE |
—| =A——= (52)
dt | dt

It is measurement of change of electric field E,|

w.r.t. the area A. It is the amount of normal flux

increasing or decreasing in a given area A per unit

time.

Change of flux is of two types:

(i) Non-positional change: It is a change of electric

field F| in the given area without any change in

position of the flux line. Let’s denote the rate of
dE |

o - AL

dt npc dt npc

(ii) Positional change: In this case, electric field

FE| changes in the given area due to the change

of position of flux line. Let’s denote this with

ds|_ dE,

dt lpc dt

this change as (eg—sec .

pe
Total change in the given area is the sum of these
two changes i.e.,

dd

dE |
bkl B ettt
dt

o dt

dE,

53
npc dt pc ( )

Relation between positional change rate
and flow-in rate (flow rate of flux moving
inside the loop)

For any closed loop L
(perimeter=l), containing area
A, positional change rate of flux
is equal to flow rate of normal
flux moving inside the loop from
outside (through perimeter of
the area), i.e.,

ae
dt

_de
Cdt

pc

(54)

F(inside)

as it can’t happens in any other way i.e, in case
of positional change, | increases only when more
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flux comes inside from the out side of the loop .
So, ¢ B - dl due to this inside flowing flux will be

(using equation and

I , 4
%B-dl:%ue(UxE)-dl e —
dt F(in)
dd
dt
Y
B-di=pe
¢ | (55)

Simplifying this equation using Gauss-divergence
theorem

. d(JE-dA dE| -
/(VxB)-dA = /,LEM = ,ue/ dA
dt pc
dE
VxB= pe — (56)
For moving charges, this equation becomes
- dE,
B = 57
V x pe — (57)

dE dE, dE,,
dt dt dt
Non-positional Positional change
change

where Ej, and F, is the component of electric
field, along the velocity and perpendicular to the
velocity of charge.

Modified Ampere-Maxwell law
Combining equations [50| and [55] we have

5 o dd dd
%B-dl:pe + e —
dt | dt e
RSN
Due to Due to

flow rate of

h te of
electric flux change raze o

electric flux

which is equal to

= d®
7{B-dl pul + pe — it | (59)

This equation is slightly different from the
Ampere-Maxwell equation, as here, non-positional
change rate of electric field is not allowed. Maxwell
used mathematics to derive the second term, but
there are mistakes in that (mentioned below).

8.2 Problem in Maxwell’s correction in
Ampere’s law

(1) Maxwell used § B - dl = pI (Ampere law) to
find the expression of displacement current, but
this equation itself doesn’t hold in every situation.
It holds only for infinite-length wires and closed-
loop circuits.

For a finite-length wire, the closed-line integral of
the magnetic field can be written as

7{B dl’ = jé

wl
(sina 4 sin B) A - dl

1
Ll (sina + sin B) 27r (60)

4dnr

=pl (sina+sing)/2
I a( p
P 08
(2) Using Gauss-divergence theorem, Ampere’s
equation is modified as
/(ng)-dé“:,u/f-dé‘

VxB=uJ (61)
Taking divergence to both sides and using the

property of vector calculus

Ve

Left side expression is always zero, but not the
right side. Hence, to hold this equation, an extra
term Jy is added in the above equation

0 L
VAPKB) =V u(J +Jy)
V-J; ==V-J (62)
or, Jg =—J (63)

Using equation of continuity of charge and Gauss
law (equation, we can write above equation
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as
- dp d(eV - E,)
T = (=22} = BEV P
V- Ja ( dt) dt
[p = e(V-Ep), but not e(V - E) or ¢(V - Ey) }
- dE,
g, = . ' 64
V- Jg \% [e o ] (64)
But we can’t write this equation{64] as
- dE
Jy=¢—2L (65)
ST

because

V.-A=V-B =» A=B8B

A may or may not be equal to B. For exam-
ple: A = 9zi + yj and B = bwi + 5yj Here the
divergence of A and B are equal V- A=V-B, but
they don’t A # B (neither the magnitude nor the
direction). So, the only significance of equation
is that their divergence are equal but the expres-

sions inside may or may not be equal, i.e., we can’t

conclude that J_:i =€ %.

(3) Consider the case as shown in fig20] i.e., we
have a tube filled with charged gas and a piston
is attached on the top side. Here, the piston is
pressed and a magnetic field is produced at point
P due to the flow of ions inside it.

Fy

=

Charged
gas

Te

Figure 20: A charged gas tube with a piston

Here, J (conduction current) #

Jy (displacement current) as J is along -Y-

axis while Jy is along E}, (taking J; = € dﬁ%),

which is against equation{63]

So, (1), (2) and (3) shows that there are problems
in Maxwell’s correction. But we can find the
actual equation using the concept of flow rate and
accumulation rate as mentioned here:

Closed line integral of magnetic field due to con-
duction current will be

L. 4o
B.di=
7{ Heat

= pul (sina +sin5)/2  (66)

F

= MG%’ULELdl (67)

It is produced due to moving E i (E|| can never
produce any magnetic field). It can also be written
as

-

V x B = pJ (sin o + sin 8) /2 (68)
If the current (I) doesn’t flow uniformly (V-.J # 0)
i.e., charges are accumulating somewhere then in
that case, the corresponding moving E| starts to
accumulate in the surrounding region, which will

also produces a curl of magnetic field given by

equation{bh] or [57] i.e.,

dE |,
dt

V x B = pe (69)
So at point P, there will be two curl of magnetic
field, one along the direction of conduction current
(produced due to J) and another along the E |
(produced due to accumulating E| (because of V-
J # 0 or accumulating charges)). On combining

equation{68| and [69] we get

L . dE
V x Bp = pJ (sina + sin 8)/2 + pe dt“’ (70)
For infinite length wire, it reduces to
dE
V x B = pJ + pe — (71)

dt

as a = = 90° and E ., =E. If we apply di-
vergence to both side here, we will get the same
expression as we got from the Maxwell’s correc-
tion procedure as mentioned in equation{64]

A suitable experiment is mentioned in paper-2| for
the experimental verification of the equation{69}

8.3 Parallel plate capacitor experiment

For better understanding, let’s take a single plate
(effects will combine for a double plate system).
Here are two plates (independent of each other)
having the electrical connection as shown in fig{21],
where both plates are becoming negatively charged
because of current I. The direction of current in
these two plates is in the opposite direction.

According to Maxwell’s fourth equation, the
magnetic field produced above the both plates
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Figure 21: Plates with different electrical connec-
tions

(due to the changing electric field) will have the
dE
same direction (anti-clockwise) as — =
in both cases. But according to equation{59|
(modified Maxwell law), it will be in the opposite

—ve

o : d :
direction as in second one —| = —wve (negative

dt pc
flux is flowing inside the loop) while in first one, it
. dE
is —
dt pc
the loop).

= +ve (negative flux is flowing outside

Now question is which one is true?

As we have already seen in sec{8.2] that Maxwell’s
correction isn’t true as it failed in the sec{7.1}
and and after its correction, we got the
equation{p9| i.e., it is derived mathematically and
so we can surely say that magnetic field will be
produced in opposite direction.

We can see this situation in another way also
as the plate can be treated as composed of two
charged sheets, one positive charged sheet having
fixed +ve charges and another a negative charged
sheet having movable negative charge (free elec-
trons). The electric field corresponding to the
positively charged sheet can’t create any magnetic
field as it is stationary. So, presence of this field
doesn’t matter for the magnetic field (because of its
dE
E pc
erated only due to moving electrons or a moving
electric field corresponding to a negatively charged
sheet.

In the first figure, the plate is becoming negatively
charged when electrons are moving away from the
center, while in second figure, when it is toward the
center. Because of this opposite direction of the
electron’s motion, the corresponding electric field
(E'1) also moves in the opposite direction, and so
produces the magnetic field is in Ehe opposite di-

= 0). In both cases, magnetic field is gen-

: dE . :
rection. Hence, no matter what g is, production

dE

dt lpe

So, it also proves that it is the motion of electric
field which produces magnetic field , but not the
change of electric field. (A suitable experiment is
mentioned in paper-2| for its experimental verifica-
tion)

of magnetic field depends only on

8.4 Enmergy stored in the form of mag-
netic field

Energy stored in the magnetic field in volume dV'
is given as
1

dU = — B?dV

5 (72)

In sec{f], we saw that magnetic field is nothing but
the moving electric field itself, hence it can be writ-
ten as B = pe ¥ X E or B = pe vEsinf

1
dUp = —B?*dV = —(uevEsin 0)?dV
20 2u
1
= 5(Me?E? sin® 6 dV v? (73)
1
Us =3 < / pe? E?sin’ 6 dV) v?
which can be written as
1
Up = ikvz (74)

where k = [ uelE?sin? 6 dV, 0 is angle between
7 and E. This magnetic energy is stored by the
moving electric field by virtue of its motion i.e., if
v = 0, magnetic energy stored will be zero.
Inertia of field

Suppose a charge of mass m is moving with ini-
tial velocity @w. It is then accelerated to velocity
¥ by a force F, by doing work W on it during its
displacement di. Using the conservation of energy
(neglecting the energy radiated in the form of ra-
diation during acceleration)

W = A(K.E) + A(P.’EQ) + AUp

1
= —m(v? —u?) + 516(112 —u?)

N =N -

(m + k) — u?)

I
S
I~
=

1

=F = (m+k)a@=mesd (75)
where m + k = mesy is the effective mass of an
electric charge+field system. It means k is inertia
of the field (electric field), which is independent of
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its velocity, as the mass of charge is m only.

Hence the equation |74/ means that magnetic energy
Up is nothing but the kinetic energy stored in the
primary electric field because of its inertia (if v = 0
= Up = 0). So, magnetic energy also is not the
energy stored in any such real field called magnetic
field, but it is just the K.E of primary electric field.

When a charge accelerates, its mass opposes
the change of state of charge, while the inertia
of the field line opposes the change of state of
the field line. Charge and field are constrained
together, and so the change in state of the
charge+field system is opposed by meyys, i.e., to
accelerate a charge of mass m with acceleration
a, an extra force ka is needed in addition to ma
(neglecting the oppose due to radiation loss). This
ka force is responsible for the transfer of energy
to the field, which is stored as kinetic energy in
the field. When charge retards (somehow), this
field’s kinetic energy or field’s momentum tries to
maintain the state of motion (inductive property).
e Self-energy of an electric field (per unit volume)
is Ug = %EEQ and it doesn’t depends on its
velocity.

8.5 Phase difference between producer
and produced fields

As we saw that moving electric field itself is the
magnetic field and so the phase difference between
FE and B will be always zero. In the case of propa-
gation of electromagnetic magnetic wave in a con-
ducting medium, this phase difference between F
and B becomes non-zero because here we measures
the phase difference between the [electric field of
the wave| and [magnetic field of the wave + mag-
netic field produced by the current density J, arises
in the medium due to that electric field of traveling
wave] and so overall phase difference becomes non-
zero (as J. lags behind J;). But the phase differ-
ence between the individual electric and magnetic
field (producer and produced electric and magnetic
field) still remains zero.

9 Deriving Faraday law using the
concept of electric drag force

Faraday law is also an experimental law. But we
can derive it using the electric drag force equation
because it is also the consequence of electric drag
force.

1. For absolute magnetic field:
As we have already seen, magnetic field doesn’t
exist. The magnetic force on a moving charge in
a magnetic field is basically an electric drag force.
For absolute magnetic field, it is given by equation-
which is
Fq = (]Uq7 B X B

If it generates any EMF in a closed loop
(perimeter=l), it will be equals to

F,-dl oL
M :7{(77,173 x B)-dl

q

:_fwﬁxgy@

&=
(76)

Here, U 4 is velocity of magnetic field w.r.t. charge
or coil. Proceeding in the same fashion as did for
Ampere-Maxwell law, we get

dd dd
E=—u| @ (77)
t pc t F(inside)
which can also be written as
- dd
j{ES-dl:—B (78)
dt e

asE=§E-dl = §(E, + Es)-dl = § E - dl. So,
secondary electric field is nothing but the equiv-
alent electric field corresponding to electric drag
force i.g, drag force experienced by a unit charge,
B =1t

Here this positional change is w.r.t. coil (Upg),
which means that if magnetic field is stationary
and area of coil is increasing, in this case also, EMF
will be generated in the coil.

This magnetic field is an absolute magnetic field,
and so this EMF will remain same for every frame
of reference.

2. For non-absolute magnetic field:

In non-absolute magnetic field, force on charge is
given by equation{17]i,e

—

Fy = ape qip g X (Upq X E)

which can also be written as

— —

Fy=aqig, x By

where B'q is the magnetic field of system, when ob-
served from the charge (or coil) frame , i.e., mag-
netic field w.r.t. any random frame is not allowed
in this equation.

Put Ug ¢ = Up,q (as moving electric field itself is the
magnetic field) and proceed in the same way i.e.,
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if this force produces any EMF in a closed loop, it
will be

q

:a}[(UB,quq)'dl:a B

L. 4o
%E5~dl:a By

where ®p, is the magnetic flux of the system,
measured from the charge (i.e., coil) frame. This
positional change rate of magnetic field is w.r.t.
coil but not w.r.t. any random frame.

The value of a here is not always -1, but it depends
on the situation, as for the situation shown in

figl§(b), @ = —1, and for figures and
1

a:—i.

pc

(79)

pc

In fig{I0|(b), there is a net increasing magnetic flux
inside the coil for S’, but still the EMF induced in
it is zero because the change of magnetic flux inside

i)
the coil w.r.t. the coil is zero i.e., Ba _ () while
in figures [912] and changing magnetic flux is
zero in the frame of electric field, but still EMF

induces because it is non-zero in charge or the coil
ddp
1 =0).

frame (

9.1 Concept of induced electric field
(generation of EMF due to acceler-
ating charges)

As we saw that field line possesses inertia. Due to
this, whenever a charge accelerates, its field line
bends and makes the curl of the field non-zero
(V x E’p # 0), i.e., the primary electric field be-
comes non-conservative if the corresponding charge
accelerates.

For a charge, the curl of its field at any point P
having electric field strength E (before accelera-
tion) is proportional to the acceleration of charge,
the field F, and sin of the angle (#) between the
direction of electric field and acceleration (because
bending is caused by the acceleration’s component,
which is perpendicular to the field).

dv

_ = VxE=d(Esin)

IV x E| x E — sinf
where v is the velocity of charge, a’ is a constant
and 7 is a unit vector along V x E. If the acceler-
ation of charge is zero, then V x E = 0, i.e., field
is conservative.

Replacing the constant a’ with a’ = a” e, we get

~ d d
V x E = a” peE sin Gd—?ﬁ = a”%(Ev sin 0)n =

If a coil is placed near this type of accelerating
charge, a net EMF will be generated in the coil
given by

Ezfﬁ.df:/(VxE)-d§:/ [a”cfg] - dF

77d ] = _ 77dq)B
=a T [/B-ds] =a T
(80)

e Similarly, when a coil is placed in a changing
magnetic field of a variable current-carrying wire,
EMF induces in it, not because of change of any
such real magnetic field but because of the bending
of primary electric field.

e In the case of the solenoid also (having vari-
able current), it seems like the changing magnetic
field (inside) of the solenoid produces an electric
field called as induced electric field, which causes
the production of EMF in a coil placed inside or
outside of the solenoid. But the actual reason is
the non-conservative nature of the primary elec-
tric field of the accelerating charges. So the con-
clusion is that the induced electric field is also an
phenomena of primary electric field.

10 Failure of Electromagnetic
Wave Equation

10.1 EM wave generation due to a
charge

When a charge moves with some velocity v, then
at any general point P (p, ¢, z), both electric field
and magnetic field change with time as

g ke  xn qup 3
) AT (02 + (2 — vt)2)2

as mentioned in sec Here, % <0 , ‘2—? #0
and so V x B # 0, VXE# 0. According
to Maxwell’s equation, whenever electric field or
magnetic field changes, generation of electromag-
netic wave takes place due to sequential formation
of E and B field (as equations 1| and [2 describe).

dv ﬁThe only condition required for the generation of
dt an electromagnetic wave is the changing electric

field or magnetic field. Also, the Maxwell equation
doesn’t care about how the field is changing, i.e.,
whether it is from moving charge or from acceler-
ating charge, in both cases, equationdI] and [2] will
behave in the same way. So, according to it, gen-
eration of EM wave should take place in case of

dBmoving charge also (and also in the fig{22b) and
a Jz(c) as the electric and magnetic field is changing at
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point P, periodically). But it doesn’t happen and
so, it the failure of concepts as well as the equation
of electromagnetic wave.

If it generates, it will be a violation of the law of
conservation of energy because a stationary charge
also has some velocity with respect to some other
observer, i.e., moving with respect to someone.

© ©,

© e,
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Figure 22: Moving charges

An EM wave will be generated if and only if
the source charge accelerates (Larmor formula);
otherwise not, even the electric or magnetic field
changes with time.

So why is this acceleration important, which is
not even required to derive the traveling wave
equation using Maxwell’s equation?

10.2 Problem in derivation of electro-
magnetic wave equation
Maxwell’s third law (V x E =—9) is valid
only when producer field is magnetic field and
produced field is electric field (i,e magnetic field
is changing and electric field is getting produced).
For reverse of this situation , this equation doesn’t
hold.
similarly, Maxwell’s fourth law
(V x B = u(J+ 6%)) holds only when pro-
ducer is electric field and produced field is
magnetic field.
According to Maxwell, electric field produces
magnetic field and magnetic field produces electric
field and in this fashion, sequential production
of field takes place which results into continuous
propagation of electromagnetic wave. But there is
a problem with this as mentioned here:
Suppose these is space having changing magnetic

field (By), then it produces electric field (E7) as

» dB

Now this F; also changes with time which further
produces magnetic field (Bs) as

Again this produced By produces electric field Es
as

ﬁ dBs
VX FEy=——=
St dt
In this way, we have
. dB . dE
VxE,=-— dtn and VX B,1 = ue dtn

On combining these equations using property of
vector calculus, we get

d’B

d2E, .
dt2

V25n+1 = pe o and V2§n+1 = L€

But these equations are not the equation of trav-
eling wave as F,, and F, 1 have different position.
In wave equation, both side contain the amplitude
of same position with LHS as changing amplitude
distance and RHS as changing amplitude
w.r.t. time. But here, it is not same as FE, and
E,,+1 have the different positions and F,, act as a
producer or cause of E, 1. If F, and E, ;1 have
same position, then it can’t create a traveling wave
as the next produced field will superimpose over
the previous field. Hence it is not the actual trav-
eling wave equation of EM wave and the wave ve-
locity we get from this equation matches with the
actual value (experimental) but it is not the actual
way of finding (as we have already seen in Sec
and in the case of calculation of the magnetic forces
between two current wire that the matching of few
results only doesn’t always prove that the physics
or theory used behind is 100% right).

w.r.t.

10.3 Non-existence of magnetic field

As proved in secff] that magnetic field doesn’t
exist i,e it doesn’t have any physical existence. In
another word, magnetic field is just a mathemati-
cal parameter which measures the flow of electric
field as given by equation{d}

So,(i) neither the changing electric field nor the
moving electric field produces any further field,
called as magnetic field and similarly

(ii) neither the changing magnetic field nor the
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moving magnetic field produces any field further
(called as secondary electric field) as it itself
doesn’t exist

So, the propagation of wave in space doesn’t
happens in the way as explained by Maxwell
(sequential formation of E and B field in
space) as the only field which exist is the
primary electric field.

Secondary electric field also doesn’t exist as the
effect shown by the electric field produced by
moving magnetic field is the effect of electric drag
force (we will see the case of permanent magnet
later) and the induced electric field produced by
changing magnetic field is the bending of primary
electric field i.e., the non-conservative nature of
primary electric field.

So, these above three failure proves that our under-
standing regarding the generation and propagation
of electromagnetic electromagnetic wave is wrong.

Generation and propagation of electro-
magnetic wave

Here, we have three points, which has been proved
earlier:

1) An EM wave get generated only when the
charges accelerate or oscillate.

2) The only field that exists (among all types of E
and B fields) is the primary electric field.

3) A primary electric field possesses inertia.

Using these facts, we can clearly say that the elec-
tromagnetic wave is a phenomenon of primary elec-
tric field. Because of the inertial property of the
primary electric field, when a charge accelerates or
oscillates, it generates wave pulse on its field (pri-
mary), which propagates continuously to infinity,
and that is our electromagnetic wave. Even though
the strength of the primary electric field decreases
with distance, electromagnetic waves don’t decay
to infinity (and the reason is mentioned in Sec-
. This wave carries a mathematical term B
with itself as a magnetic field always travels with
its producer electric field, and so, on putting v = ¢
in equation{d] it becomes B = E/c. The effect
shown by this B is the effect of E as drag force.
So, light (EM wave) is a pure electric wave. It also
requires a medium to propagate, which is nothing
but the primary electric field. This medium always
moves along with the producer of the wave (as elec-
tric field always travels along with the charge) and
this is what Michael-Morley experiment proves,
i.e., w.r.t. the experimental setup, the speed of
light is the same in every possible direction, irre-
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spective of the velocity of the setup or any exter-
nal medium called ether because the medium itself
travels with the setup.

11 Non-rotational property of

primary electric field

When a charge changes its direction of motion or
traverses any type of curve path, the orientation
of the electric field of the charge doesn’t change.
Suppose an electron is moving in the x direction
with the electric field’s orientation as shown in
fig{23] when it changes its direction to the y axis,
this orientation of the electric field remains the
same (fig23(a)), i.e., it doesn’t change to figure

(b).

(@) (b)

Figure 23: A charge is changing its direction of
motion

Taking the case of magnetic field produced by the
circular current carrying wire at centre :

Electric field due to elemental moving charge A.dl
at the center will be

2B (81)

If fig(b) is true, then velocity of this electric field
at center will be zero and so the magnetic field also
should be zero as

dB = pe 7 x dE = 0 (82)

But, it isn’t true which proves that fig. (b) is not
correct.

If we consider fig-a, then velocity of eletric field at
centre will be same as velocity of moving electron



(vg = v.) and so o=

dB = pe g x dE = pe v, dE i i — —
zufvezhr/\eiemdlf:ﬁr)\];edﬁ \}!:</B
s w &)

Br = / ﬁ% din = % n Figure 24: A rotating charge+field system

So, it proves that fig. (a) is correct i,e orientation

of field doesn’t changes with change in direction If this rotating system passes through a stationary
of motion of charges. It also gives the reason why coil with velocity v’ (along its axis of rotation (z-
V-Bis always zero. A charge can’t produce any axis)), it will produce a current I

magnetic field due to the rotation of its field i.e., T , ] .
magnetic field is always due to linear motion of | _— é — f(B x v') - dl _ Byl _ pewrsin OE.v'l

electric field, and it is (taking direction of velocity R , R R R
of charge as z-axis) — 4L q"‘g ! sin 6 cos (87)
r
ézﬁxﬁzﬁx(ﬁp—i—ﬁz):ﬁxﬁp:vEpd¢ B :ue(wrsine)%x(ﬁp—i—ﬁz)
- 10 = pe wrsin@F, a, + pe wrsinfFE, a
:V-Bzf%(vEp)zo p @z = Gy
p

But it can’t happen as an electric field doesn’t ro-
tate. However we can achieve it indirectly as in-
stead of rotating the charge, rotate the coil. For a
rotating observer, this whole universe is rotating.
So, if an observer is at the center of the rotating
coil, all the surrounding fields of the charge will
be rotating for it, exactly same as assumed earlier.
B i€ T x P e (& X 7) x P Hence, in this case, if chal'rge'passes through it, the
N same current I current will induce.

= pe (wrsinf) ag x E (85) So in this case, there is no magnetic field at all in

= pe wrsind E ag the charge frame, but still the same current will be
induced because of the drag force as

(34)
But what if a field can rotate?

Suppose we have a charge whose charge+field is
rotating with angular velocity w about the z-axis
(at origin) as shown in ﬁg The magnetic field
produced at any point P(r, 0, ¢) will be

Taking divergence

: ’
19 £ = %F(J_, ) -dl:fEZ(Wzng)(”)dl

B = 29 |
v rsinf 00 gg (e wrsin ) 1 N "
1 :7< cos )vwrsin
= — pewr 2sinf cosf E (86) 2 \4rer?
rsin 6 pquv vl
= 2uew E cosd I= E P sin 6 cos 0 (88)

Here, the divergence of produced magnetic field Hence, it is the same for every frame of reference.
can be non-zero. For 6 € (0°,90°), V - B >0and If we use the concept of magnetic field, it can’t be
for 6 € (90°,180°), V - B < 0. It means half of the explained.

space acts as magnetic north monopole and half as It proves that, for rotating observer, V- B #0.
magnetic south monopole. Collectively, it is acting

as a dipole but not as same as the dipole formed by So note that, if an alpha or beta particle (or any
the permanent magnet or electromagnet. In that charge particle) when passes through a rotating
case, the divergence of the magnetic field at every metal tube in discrete fashion (so that E, # 0),
point, even at the pole, is zero, and the associated it will produce a current in the tube. This cur-
field line is a close field line. But here, the mag- rent will be opposite on either side of the moving
netic field line is not closed, as it is emerging from charge, and the speed of the moving charged par-
one side, going to the other side, but not returning ticle will reduce gradually (a suitable experiment
back. This dipole is equivalent to an electric dipole is mentioned in paper-2 for its experimental verifi-
formed by electric charges. cation).
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Its reverse technique can be used to accelerate or
decelerate the charge.

12 Failure of Atomic Model

Here we have a total of three failures of the atomic
model. The reason for all these three failures is the
high revolving speed of electrons inside atoms.

1st Failure: Electric drag force on atom

In sec (equation and ﬁg, it is proved that
drag force in direction of applied electric field

(FH g) is independent of direction of motion of
charge, and in sec{5.2.1 stationary charge also
applies magnetic force on moving charge, in which
the ﬁll g component is independent of direction of
velocity of moving charge.

It is also proved (Sec«@ that we don’t have any
option other that equation (Electric drag force
equation). All the experiment of paper-2 also will
prove the drag property of electric field.

According to Bohr’s atomic model, an electron’s
revolving speed inside an atom is around 10%m/s.
So, if it is true, then a material, when placed in an
electric field of strength E, should experience an
electric drag force, given by

2 v v
(vr1) Flo= qF (vr 1 vy

Fyg=qF
e =95 52 > 2

(taking the dielectric constant of material as
1). Let the velocity of electron inside atom is
vecosf Z 4+ vsinfcos¢ & + vsinfsing .
Here, v, = vcosf and wv,; = vsinf (taking the

17 =
direction of F as z-axis).

Using the equation F| g force on atom is

(vrL vp)
Figp= qETTrHZ qF

vsin 6 v cos 6

c2

Taking average of this force (6 varies with time
during the revolution of electron) for significant
duration of time, we get

2
<Fip>= qEZ—z<sin96059>: 0 (89)

Overall force on the sample in E | direction is zero.
But, Fj g force on atom is

(vy1)? _ v?sin? 6
1 2¢?

Fipr= gF
e q 2 2

Taking average

U2

1 2
_ 12 _
<Fjg>=qE 262<s11[1 0> = §qE

v

2 c2
(90)

If the total number of electrons in material is N,
then the net force on material is

N v?
~¢E —
c

ja -
< HE> 1

(91)
Taking N = 102, E = 10° V/m, and v = 10°
m/s (approximate calculation), the value of force
came out to be < Fjp > = 10* N, which is very
high. It means that few moles (few grams) of mate-
rial, when placed in an electric field of strength 10°
V/m, should experience almost 10* N force. But it
doesn’t happen (study and measurement of break-
down voltage of dielectrics conducts at 10°V/m
strength of electric field)

It proves that electron isn’t revolving with such a
high speed inside atom and also proves the Bohr
atomic model to be wrong as the high velocity of
electron is the result of Bohr atomic model . Note
that we have already proved that the drag property
of electric property can be disproved at any cost,
otherwise the situations and [9] can’t
be explained. So, the fault is not in the concept of
electric drag force, but it is in the atomic model.
The evidence that supports Bohr’s model is the hy-
drogen spectrum (or hydrogenic spectrum). It is
because this model is developed on the basis of the
spectrum’s wavelength formula (the empirical for-
mula for the wavelength of hydrogen spectrum was
known earlier than Bohr’s model), i.e., the hydro-
gen spectrum’s wavelength formula didn’t comes
from Bohr’s model, but the Bohr’s model came
on the basis of this formula by taking multiples of
assumptions having no physical significance, just
to explain or adjust the things accordingly, which
also violates the law of physics. So, the hydrogen
spectrum is not the evidence or proof of the Bohr’s
model, but instead it is the source or base of that
model, i.e., it is obvious that a theory will explain
all those things, on the basis of which it is devel-
oped. But to validate that, it should explain other
things also, which it doesn’t. Forcefully matching
the result is not the actual way of finding.

2nd Failure (Radiation emission)

When a charge moves, its primary electric field al-
ways moves with it, i.e., it is not possible that a
charge moves but its electric field remains station-
ary; otherwise, a moving charge can’t produce any
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magnetic field (as the magnetic field is nothing but
the moving electric field).

Also from Section{I0.3] it is clear that electromag-
netic waves travel through a primary electric field,
which get created when charge oscillates.

So, whenever electron will revolve around the nu-
cleus, corresponding electric field will also move
with it (without changing it’s orientation, section-
11]) which will leads to the generation of EM wave
(emission of energy), making the atom unstable.
Bohr overcomes this with just an assumption, hav-
ing no physical significance that there are some
fixed energy levels in which an electron revolves,
and there it doesn’t radiate any energy. But, revo-
lution of electron in any type of special orbit can’t
stop the generation of EM wave, as in that special
orbit also, primary electric field will move with the
charge, and so, generation of EM wave will take
place (because of the high frequency of revolution).
If it is not generating, it means the primary elec-
tric field of the moving electron is stationary, which
is not possible (otherwise charge and field will be
separated from each other).

3rd Failure (Magnetic Effect of Material)

In secdf] it is proved that a magnetic field doesn’t
exist or the moving electric field itself is the mag-
netic field. If a region has a magnetic field, it means
it has moving electric fields.

So, a material can produce a magnetic field in its
surroundings if and only if the electric field (pri-
mary) corresponding to the electron (moving in-
side) also moves with them (the only way to move
an electric field); otherwise, it can’t show any mag-
netic behavior. Even the moving charge can’t pro-
duce a magnetic field if its field doesn’t move with
it (which isn’t possible), as the reason for the mag-
netic field is not the moving charge but it is the
moving electric field.

So, the overall problem here we have is that

= if we take the electric field moving along with
the moving charge to explain the magnetic behav-
ior of material, then generation of an EM wave
will also take place due to the high frequency of
the revolution of the electron (=~ 10'® Hz).

= if we take the electric field stationary corre-
sponding to moving charge to counter the radiation
emission, then a material can’t show any magnetic
behavior.

But it is the truth that materials like permanent
magnets show magnetic behavior as well as the
generation of EM waves also doesn’t take place,
which indicates that there is something wrong with

the existing atomic model.

If we take the spin of the electron as the cause of
the magnetic field of a permanent magnet, then
again we face the same problem, i.e., a spinning
electron can’t produce a magnetic field until its
field doesn’t rotate. And if it rotates, it will gen-
erate an EM wave and will cause the electron to
stop spinning. Stern and Gerlach experimentally
proved that spin is the intrinsic property of an elec-
tron, and it is possible only if an electron spins
without affecting its field.

13 Space isn’t empty

Feynman disc paradox:[7]

There is a solenoid (carrying current I), and a non-
conducting sheet containing static charge is fixed
as shown in Fig{25]

CHARGEL
METAL SPHERES

Figure 25: Feynman disc paradox setup

When the current of the solenoid is reduced to
zero suddenly by switching off the circuit, this
system starts to rotate, i.e., gain a net angular
momentum, even though there was zero angular
momentum in this system before switching. So,
(i) where does it come from? (ii) Is it the violation
of law of conservation of angular momentum?
Multiple textbooks mention its solution that a
magnetic field stores angular momentum in its
field (even without any rotation), and when it
decays, it transfers it to the system, causing a net
rotation.

But sections{6] proved that a magnetic field doesn’t
exist, and so the actual explanation can’t be this.
Solution of Feynman disc paradox
Interaction between charges happens by means
of field-particle interaction, as neither the fields
interacts with each other (multiple of fields when
come together, they all superimpose over one
another and retain their position, i.e., they don’t
affect or interact with each other, e.g.: light
wave:- When two light waves pass through the
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same point, they don’t affect each other, and all
the parameters related to each wave remain the
same as before). Nor can the particles (two charge
particles can’t interact with each other without
field (except collision) by virtue of their charge or
mass). It is the field produced by one charge or
mass that interacts with the other charge or mass.
No such magical thing exists that can make direct
interaction between two particles having some
distance, without having any interconnection
between them (i.e., there must be something in
between them to make the interaction possible,
and that is nothing but the field). So, the only
way of interaction is field-particle interaction, i.e.,
= field-field: NO interaction
= particle-particle: NO interaction (except colli-
sion).
= field particle: the only way of interaction
Coulomb’s law seems like a particle-particle inter-
action law as F' = kqq'/r2 7, which isn’t true. The
actual equation of force on charge ¢ due to ¢’ is
F = qF' (field-particle interaction), where E'is
electric field due to ¢’. This reduces to Coulomb’s
law when the value of E’ is placed in it. There are
few cases where Coulomb’s law fails, but not this
field-particle interaction law.
Example: When a charge (¢’) accelerates near a
stationary charge (¢), in that case, ﬁq7q/ #* F_’)q/,q
because field lines of ¢’ bend due to its acceleration
(inertial property of field) while the field of ¢
/
JE = I%LZC‘I but
r

remains as usual. Hence Fj, =

/

F'q,q/ = qF' # krig (E and E’ are fields of ¢ and ¢/,
respectively). So, is this a violation of Newton’s
third law? Answer is NO! (mentioned in sec{13.1]).
Same thing is happening in the above case (fig-
25)), as when current in the solenoid increases (or
decreases), corresponding electrons in the wire
accelerate (or decelerate), causing bending of the
field of the surrounding i.e., electric field becomes
non-conservative . Due to this, the charges of the
non-conducting plate experiences a net rotating
force and so start rotating. So, it is a phenomena
of mnon-conservative nature of primary electric
field. Using this concept, we can generate a net
linear momentum also in a free space without
using any propellant (space propulsion) by adjust-
ing the charge and field accordingly as shown in
the fig26) where S; and Ss is oscillating at same
frequency with suitable phase difference.

Rotating homopolar motor
When a magnet, battery and wire is fixed as shown

Capacitor FEnY
P W,
plates S,
—
()
\_/5-1

Figure 26: Coupled inductor and capacitor

in ﬁg it start to rotate (Youtube video: Link-1
[7], Link-2 [8]). This also seems to violate the law
of conservation of angular momentum, but it is not

(mentioned at sec{13.1)).

tread

wire

Battery

Magnet

=

Figure 27: Rotating homopolar motor

Let’s see why this entire (mag-

net+battery+wire) rotates.

Electric drag force between two charge can be given
2

qgEv; B F _qEv oy ol

2 c2 c2

1E =
where ﬁll g is along the line joining the two charges

system

as Fip =

while F| g is perpendicular to it. So whenever
there is Uy along with v, , F '| g arises which leads
to a net torque in the two-charge system.

In the above fig27] if we consider the permanent
magnet as electromagnet magnet (circular coil),
then we can clearly see that there is v, as well
as V| and so it rotates because of a net torque in
the system. It mean that a system can generate a
net angular momentum in free space, without any
help of external agent.

Note: If the position of point of application of ac-
tion and reaction force is same then Newton’s third
law and conservation of angular momentum, both
will hold and if the position is not same (as seems
in case of two charge-system, which is not actually
true), then angular momentum of system will not
remains conserved.
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https://youtu.be/jd7nwLbqYU4?si=pKEXSlpSSE-lYdoP

13.1 Global space fabric

In the previous cases, Newton’s law and angular
momentum conservation law seems to be violated
because we consider this free space as empty
space, which is not.

Suppose a hypothetical charge ¢’ that doesn’t
have any field, if placed near ordinary charge ¢,
will experience force F = qE = kqq' /r? 7, but
the ordinary charge ¢ will not experience any
force. It is because a field doesn’t behave like
a string or physical object that pulls or pushes
another charge, and so action-reaction will always
be equal, but instead it is a type of disturbance
(stable) in free space.

There is global 3-dimensional space fabric in space
everywhere. Through this space fabric, transfer of
energy and momentum (force) takes place between
two charges placed independently. Charge is a
disturbance of this fabric, i.e., space fabric, when
compressed or squeezed to a point, it becomes
somehow stable and acts like charge (high density
region), while the stretch produced in that fabric
due to its compression acts like field (continuous
variation in fabric density or fabric pressure).
Fabric pressure is inversely proportional to fabric
density; as less is the density, more will be the
pressure or tension in the fabric. An electric field
is something like the pressure gradient of a fluid
(analogy), and electric force is equivalent to the
buoyant force of that fluid. So, if we consider this
space as non-empty space, then

e clectric charge = Highly dense (stable) point
region of space fabric

e Electric potential = Space fabric pressure

e Electric field = Space pressure gradient

e Electric force = Space buoyant force

Charge, when moves in this non-empty space,
doesn’t experience any resistance or oppose in it
because there is not any actual transfer or motion
of material but only the stabilized disturbance
(highly dense region (charge) and low dense
region (field)) moves from one position to another.
Hence, no resistance acts on moving charges, as
space itself is not moving but it transfers that
stable disturbance.

When a charge (q1) is placed in the electric field
of some other charge (g2), it experiences force not
because the field line of go pulls or pushes it, but
it is the space fabric surrounding the charge (q1),
which pushes or exerts force (space buoyant force)
on it because of the pressure gradient created near
it by the local charge gs.

In figures [25] and Newton’s third law is not

violating because the action-reaction force is
acting between charge and surrounding space but
not in between the charges, i.e., force on charge
(action force) is equal and opposite to the force
experienced by its surrounding space (reaction
force).

Same thing is happening in case of rotating
homopolar motor as electric drag force also is
applied by this non-empty space and hence, the
action and reaction force acts between the charge
and space (but not between the charges directly),
which always remains equal and opposite. So the
angular momentum of two charge system is seems
to be non-conserved because we are not including
the space fabric into the system. For the entire
or complete system (charges + non-empty space),
angular momentum remains conserved i.e., it is
same before and after the experiment.

Similarly, an EM wave coming from an infinite
distance applies force on charge through field
particle interaction (the field is important, not
the corresponding charge), where it makes the
charge to oscillates in direction, perpendicular to
its direction of propagation. So here also, it seems
like Newton’s law is violating (as light doesn’t
contain any momentum perpendicular to it’s
direction), but not actually, as an EM wave is the
propagation of disturbances (pressure gradient)
in this non-empty space, and when it interacts
with any charge, it is that space that applies the
force on the charge (due to that pressure gradient).

Note: Matter and anti-matter when forms, it seems
like it is generated from empty space (nothing to
something), which is not actually true as it is also
the phenomena of this non-empty space or the
space fabric i,e when it get sufficient energy, it re-
sults into stable high and low density region, which
further acts like particles and so (i) they act like
the complementary particles (ii) when comes to-
gether, they annihilates and again converts to the
space fabric (changes to normal density) and leads
to the emission of energy.

13.2 Existence of field line

The concept of field lines was introduced into
physics in the 1830s by Michael Faraday, who con-
sidered magnetic and electric effects in the region
around a magnet or electric charge as a property
of the region rather than an effect taking place at
a distance from a cause. But, as we saw, the mag-
netic field doesn’t exist, and so the magnetic field
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lines also can’t exist.

But what about electric field lines, i.e., does this
really exist or is it just the imaginary lines of force?
Light is a transverse wave, and it is proven
(sec that it travels on a primary electric
field. A transverse wave can travel either on a
1-dimensional quantity (e.g., string wave) or a 2-
dimensional surface (e.g., water wave), but not
through a 3-dimensional quantity if it is uniform or
homogeneous in every direction (even not possible
to generate in it). It means an oscillating charge
can produce an EM wave in its field if and only if
field lines exist, i.e., its field exists as a bunch of
field lines but not like a uniform or homogeneous
space.

Also, Sec{I3.1] mentions that an electric field is
nothing but the stretch of space fabric that gets
produced when compression or squeeze of space
fabric takes place. If we compare it with a real-life
situation, when a small portion of rubber sheet is
squeezed to a point, the space around that point is
not uniformly stretched, but some discrete, radial
stretched line forms there, and that is equivalent
to field lines.

13.2.1 Non-decaying of EM wave over pri-
mary electric field

When charge oscillates, it creates wave pulses on
its field line, which travel to infinity. The strength
of these field lines decays with distance but the
strength of an EM wave pulse doesn’t decays to
infinity, and the reason is energy conservation. En-
ergy of a wave pulse (Ug + Up) flows through the
field line, which is a one-dimensional quantity, and
so it remains conserved over the field line to infin-
ity as it doesn’t distribute over any area or volume.
Hence

(Up+Up) = (Ug+Up)

at the point at any point P
of generation on the field line
2Up = 2Up (-Ug=Ug)  (92)
1 1
2. §€E2 = 2. §€El2
E=F

It means that, in order to conserve the energy of
the wave pulse, additional stretching happens in
the field line during the propagation of the wave
pulse to maintain the same value of E. Hence, it
becomes independent of the strength of the pri-
mary electric field of charge and doesn’t decay to
infinity due to the additional stretching of the field.
If any charge oscillates sinusoidally, then the resul-
tant field will looks like as shown in Fig. and

mathematically, it can be written as (along the x-
axis i.e., E(z,t))

E = Ey sin(kx — wt + 0) (93)

where E is neither the primary electric field nor
the secondary electric field, but it is the resultant
electric field (strength of primary electric field line
after stretching) and Ej is its peak value.

Figure 28: Oscillating charge

It follows traveling wave equation

. 1 d°E
2 _
ViE=— —7 (94)
1
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above equation, it becomes

where v = (experimental value). Putting it in

o

20 _
V°E = ue 72

(95)
Now, it will follow Helmholtz equation and all
those equation on which our communication sys-
tem is based on.

14 Static electron atomic model

All the failures of the atomic model which is men-
tioned before has been arose only due to the elec-
tron’s high revolving speed around the nucleus.
The concept of this revolving electron was intro-
duced by Rutherford because of the gold foil al-
pha particle scattering experiment, which proved
that (i) atoms are almost empty, (ii) they have a
highly dense positively charged nucleus at the cen-
ter, and (iii) electrons reside outside the nucleus
(and so the nucleus is positively charged). To ex-
plain these three points, Rutherford made the as-
sumption that the atomic model is like our solar
system, where electrons revolve around the nucleus
with suitable speed and so they don’t fall into the
nucleus. The only reason behind this assumption
is to make electrons somehow stable outside the
nucleus. But we don’t have any proof of this; in-
stead, all the failure (sec{12)) has arisen because of
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this assumption, which clearly proves that there is
something wrong with it. So, these all failures and
the Rutherford’s alpha particle golf foil experiment
indicates that that the electrons are stable outside
the nucleus without any revolving speed (i.e., elec-
trons are stationary inside the atoms), but how?
All atomic models proposed further are based on
the same assumption of Rutherford, with the ad-
dition of a few more assumptions to overcome the
failures.

So, how can an electron be stable outside the nu-
cleus without revolution? In sec{I3.2] it is proved
that electric fields are not homogeneous in space
but exist as discrete field lines, as shown in fig[29
But there is a problem with this fig{29] as the pri-
mary electric field is a conservative field, but the
field shown in fig{29isn’t. If a coil is placed in this
field along the path ABC, it will induce a current
in it for infinite time because of apc § E.-dl #+0,
which is not possible as it is against the law of
conservation of energy. Hence the actual field of
charge can’t be like this.

Figure 29: Fiels lines of charge
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Figure 30: Actual structure of field line of charge

It means there must be extra field lines in the
region between the field lines emerging from the
charge so that ¢ E-dl = 0. The possible solu-
tion we can have is figure (balancing concept
of existence of field line and conservative nature
of field). All the field lines can’t emerge from the
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Figure 31: Graph of strength of electric field (E)
vs distance (r) or angle 0
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source charge as it can radiate a finite number of
field lines only. Here, points p1, p2, p3... pn acts as
a point of generation of lateral field lines (field lines
that are not emerging directly from the charge).
Using § E -dl’= 0 along path ABC, its pressure
gradient can be drawn, which looked like fig{31}
Now, we can clearly see that points pi, p2, p3,...
pr, are the stable points for electrons to reside (sta-
ble equilibrium). In this, an electron doesn’t need
any velocity for its stability, and in this way, a sta-
tionary electron can be stable outside the nucleus
without any motion.

It is valid at atomic scale only as in case of bulk
charge, these stable points (P;) will disappear due
to superimposition of multiples of fields from the
different sources, and the overall equation will re-
duces to E = kq/r?# (Coulomb’s law). Note that
Coulombs is also an experimental law, developed
from experiments with bulk charges. So it is not
valid at the atomic scale (as field exist in the forms
of discrete lines) .

These points have their own characteristic oscilla-
tion constant at which electrons can oscillate with
some particular frequency only (any frequency is
not allowed) with maximum amplitude A (where
A is the distance between p,, and p,4+1 or p,—1).
This atomic model overcomes:

(1) 1st Failure: Drag force on an atom: Accord-
ing to this model, an electron is stable outside the
nucleus without any revolution, i.e., its velocity is
zero, and so if it is placed in an electric field, it will
experience zero electric drag force.

(2) 2nd Failure: Collapsing of atom due to ra-
diation loss: The electron isn’t revolving inside
the atom, and so the generation of the EM wave
doesn’t take place.

(3) 3rd Failure: Magnetic Phenomenon: In mag-
netic materials, there are some special paths inside
the material that are formed due to the overlapping
or sequential arrangement of the stable points (p;)
of multiple of atoms (groups of atoms) into a line
(closed path) as shown in fig{32] (each point of the
path is a stable point).

_Path
,,/’ formed
by stable
points

Figure 32: Special path inside magnetic materials

In this path, (i) the electron is stable, and (ii) it
doesn’t oscillate during its motion (due to the con-
tinuous presence of the stable points).

Not every material contains such type of paths,
i.e., it is the property of the material. When ma-
terial is magnetized, some electrons start moving
in this closed path with low speed, which leads to
the emergence of magnetic phenomena.

= Due to low speed, the frequency of the revo-
lution of an electron is very, very low, and so the
generation of an EM wave takes place, but its fre-
quency is negligible which leads to negligible power
loss due to EM wave generation, and so magnetism
retains for a long time.

= Also, if such magnetic material is placed in an
electric field, it will experience a very small elec-
tric drag force (almost zero) because of the lower
speed of the moving electrons, as happens in the
case of a current-carrying wire (another source of
the magnetic field), where it is about 1071* N.
Same thing happens in the case of superconduc-
tors, where these special paths are along the length
of superconducting wire, having a larger range. So
whenever a potential different is applied across it,
many electrons start to travel in these paths, pro-
ducing the magnetic field. In these paths, no power
loss or almost zero loss power loss happens and so
the magnetic effects retains for many years with-
out any significant change.

But in the case of a non-superconductor permanent
magnet, these paths are not very large but lim-
ited to a very small area (a small closed loop), and
hence, when potential difference is applied, no such
thing happens. But when it is magnetized (passing
increasing or decreasing magnetic flux through the
material), it leads the electrons to move in those
smaller loops, where it shows a similar property
like superconductor, i.e., almost zero loss of energy
and retention of magnetic field for many years.
(4) Discrete lines in atomic spectra: When an elec-
tron of any stable point p,, gets energy from an ex-
ternal source, it jumps to higher stable points pp4;
(where n and ¢ are positive integers), and when it
gets disturbed, it falls back to lower stable points
(pn—i) and starts to oscillate there. During this
oscillation, it loses its energy in the form of elec-
tromagnetic radiation. The frequency of the os-
cillation can’t be anything. For the given point,
an electron can oscillate with some fixed frequency
only because of the characteristic oscillation con-
stant of that point.

Hence, a material can emit radiation of some par-
ticular frequency only, but not the continuous fre-
quency, which leads to discrete lines in atomic
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spectra.

(5) Quantum nature of EM wave (discrete energy
packet of light): Electromagnetic emission takes
place when electrons fall from higher stable points
to lower stable points during the process of elec-
tron oscillation. Due to continuous loss of energy,
this oscillation becomes a damped oscillation, and
so, after a few oscillations, it stops, and the radi-
ated EM wave looks like Fig{33] i.e., as an energy
packet.

Pr+1

Ai ® .vnnMﬂl

Pn WU
Figure 33: Discretization of electromagnetic radi-
ation

So, this was just an attempt to counter all the fail-
ure of atomic model by proposing another model
of an atom.

15 Conclusion

This article proved that magnetic field does not
exist and all the phenomena corresponding to the
magnetic field is basically the effect of electric drag
force. Using this drag property of electric field,
Lorentz law and Faraday law is derived. Further-
more, our findings challenge the conventional view
of space as an empty void. We have shown that
space is not truly empty. Additionally, we have
disproved the long-held notion that electrons re-
volve around the nucleus in atoms, providing new
insights into atomic structure. These revelations
not only refine our theoretical models but also open
the door to further research and exploration .
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